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4 PART L: BUSIMESS ECONOMICS
1.

are responsible for all (d) Study of allocation ﬁrl'L"-"'C’”TL'Q;&

B onomic problems [CA CPT June 29,
{a) Alternative resgurces 12. According to Robbins, ‘m?ﬁns-
(&) Unlimited wants are:

) Scarcity of resources () Scarce
(d) Others (b} Unlimited

[Nov. 2020]
9, ‘Economics is the science of choice :
making’. It implies: [CA CPT Nov, 200
{a) Nochoice is o be made 13, Seoreiy deRnition ol Ecoton,
j Choice to be made hetween ics is given by.
alternative USCS ) Alfred Marshall
(¢} Choicetobemadebetweenmeans by Samuelson !

A ne {¢) Robinson
(d) None of the above. .
(d) Adam Smith

A Dec. 2012
[CA.CEE c : 14, The definition “Science which
10. The famous book abbreviatedas 4.1 wwith wealth of Nation” was

“The Wealth of Nations”, which is given by:

also considered as the first modern 1

work of Economics, was written by {a) Alfred Marshall
(b) A€ Pigou

{£) Adam Smith

(c) Undeﬁnpd
(d) All of these

{a) Frederic Engels

G, 1+ NATURE AMD SCOPE OF ECONOMICS

(h) Relative searcity f.e. scarcity in
relation to thewants of the society.
(c) Scarcity during tires of business
[allure and natural calamities.
(d) Scarcity caused on account of
excessive consumption by the
rich,
[Nov. 2019]
17. In Economics, we use the term
scarcity to mean:

(a) Absolute scarcity and lack of
resources inless developed coun-
tries,

(k) Relative scarcity i.e. scarcity
in relation to the wanits of the
SOCIety.

() Scarcity during times of business
failure and natural calamities.

(d} Scarcity caused on account of
excessive consumption by the
rich.

18. An economy exists because of
two basic facts ie. ........ e

{2} Human wants are limited and
resources are unlimited

(b) Human wants are unlimited and

resources are unlimited

1.5

{d) The discovery of new natural re-
SOUrces is necessary to increase
our ability to satisfy wants.

20. Adam Smith defined Economies
in terms of :

{a) The Science of welfare

(h) The Science of scarcity

(¢} The Science of wealth

[d) The Science of wealth and welfare

21. Who defines Economics in terms
of Dynamic Growth and Develop-
ment?

{a) Robbins
() Paul A Samuelson
(¢} Adam Smith
(d) None of these
[CA CPT Dec. 2008]
21A. Which of the following is not a
basic problem of an economy?
{a) Whether to produce more of con-
sumer gouds or capital goods
(F) Whether 1o lay emphasis on
labout-intensive technigues or on
capital iniensive techniques
{c) Whether to produce for rich
people or for poor people

() Karl Marx {d) IB Say.
{¢) David Ricardo 15, Economics is the study of:
sﬂ Adam Smith (z) How society manages its unlin-
[July 2021] ited resources
10A. The concept of socialist () How toreduce ourwants until we
economy was propounded by Karl are satisfied

Marx and Frederic Engels in their
work. The Communist Manifesto

was published in the year. |
(a) 1947 (B) 1848 P
{c) 1949 (d) 1950

{c) How society manages ils scarce
resources

(d) Howto fullysatisfy ourunlimited
wants.

[CA CPT June 2008]

11. Which one is the feature of 16.In Economics, we use “scarcity”

Marshall’s definition?
(a) Limited ends
(k) Scarce means

(# Study of wealth as well as study
of man

the term to mean:
(a) Absolute scarcity and lack of

 resourcesin less developed coun-
tries. :

(d) Whether to accept foreign direct
investment in the economy

{¢) Human wants are unlimited and
FESOUTCES ATE SCare
{d) Human wants are limited and 22. In every economic system, scar
resources are abundant city imposes limitations on
[Jan. 2021] (¢) Households, business tirms,
19. What implication(s) does re- %:;;;: ments and the nation gsa
source scarcity have for the satisfac- 7
tion of wm? {h) Households and business firms,
) : but the povernments.
{a) Not all wants can be satisfied. REDGLEE ROV i
(5) We will b Ficed with the (¢) Local andstate governments, but
n;ed A :;\lr:;r d:’mc A not the federal government.

- (¢) Wemustdevelopwaystodecrease . (d) Householdsand gevernments, but
our individual Erangs ; not business firms,
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 increase in general
) The effect of increase
5 price on living standards

The effect of increase in stee! im-
port of a country on steel prices

{¢) Theeffect ofincrease in wages on
Automobile Industry

(d) Theeffectof increase in lgale:.-:tate
prices on the location of industry

[Dec. 2021]
59. The study of behaviour of
different individuals, organisations
with in an economic system is
kmown as

{a) Micro economics
(b} Macro economics
{c) Welfare economics

(&)

{d) Normative Economics
[CA CPT Feb. 2007]

6. examineshow
the individual units (Consumers or
firms) make decisions as to how
to efficiently allocate their scare
resoirces,

{a) Magro Economics

(B) Micro Economics

(c) Mathematical Economics
(d) Consumer Economics.

62. Which of the following falls under
micro economics?

e

SINESS ECONOMICS

1.10
hich of the following is not an {a} National Income
:fa:pi:ofnﬂcmlimn cs? ) General price level

{¢) Factor pricing
(d) National saving and in'—-estmnnl
[CA CPT May 2,

3. Which of these is a part of
economics? Miery

(@) Factor pricing
(k) National Income
{¢) Balance of payment
(d) None of the above
[CA CPT June 203 1
&4. Which of the issue is not consjy,
ered by micro economics?
{z) Production and cost analysis
{b) Demandanalysis and fclrecasﬁ_ng

(d) None (c) Accounling standards

[Nov. 20201 j) Resource allocation. Scope of
60. A study of how increase in the Micro economics
corporate income tax rate will affect
the natural unemployment rateis an [Dec. 2021]
example of: ! 65. Micro economics is also known
{a) Micro Economics g e
(b) Descriptive Econemics {a) Public economics
(e) Micro Economics (k) Price theory

(c) Income 1.tl1eu:|r3_,'
(d) Demand theory
[CA CPT June 2010]

66. Micro Economics is concerned
with:

(a) Consumer Behaviour

(b} Product pricing
(e) Factor Pricing
(d) All of the above

[CA CPT Dec. 2010]

67. Macro-economic is also called

tessansreasaianess ECONOMICS,

CH. | : MATURE AND SCOPE OF ECONOMICS

{a) Applied

{b) Aggregate

{c] Micro

() Experimental

¥ [Jan. 2021]

68, Macro Economics is also called
economics.

(a) Applied

(b) Apgrepate

(¢} Experimental

() MNone of the above

69. Study of the behaviour of differ-
ent individuals and organizations
within an economic systemis called?

{g) Industrial Economics
{#) Macro Economics
(c) Micro Economics
(d) Welfare Economics

[July 2021]

70. Which of the following does not
suggest amacroapproach for India?

(@) Determining the GNP of India.

(b} Finding the causes of failure of

ABC Litd.

(¢) Identifyingthe causes of inflation

in India.

(d) Analyse the causes of failure of (¢} External value of money
industry in providing large scale

employment

71. Macro Economics is the study of

(@) All aspects of scarcity.

(b} The national economy and the

global economy as a whole.
(e} Big businesses.,

(d) The decisions of individual busi-

nesses and people.

1.11

72. A study of how increases in the
corporate income Lax rate will affect
the national unemployment rate is
an example of

(a} Macro-Economics.

(h) Descriptive Economics.

(¢} Micro-cconomics.

(d) Normative ECOTIONMICS,

73. Which of these is an example of
macro economics:

(@) Problem of unemployment in
India

(b} Rising price level in the country
(¢) Increase in disparities of income
(d) All of the above.

[CA CPT June 2011}

73A. Analysis of impact of Covid-19
on the Indian economy is a subject
matter of

(a) Macroeconomics
(k) Microcconomics
(e} Economics of slicing
(d) Normative economics
74, Macro economics include
{a) Product pricing
(b} Consumer behaviour

(d) Location of industry

[CA CPT May 2019]
75. Which of the following is not a
subject matter of Micro-economies?

{a) The price of mangoes.

(b) The cost of producinga fire truck
for the fire department of Delhi,
India.

{e) The quantity of mangoes pro-
duced for the mangoes market,



PART I :
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{d) The national economy’s annual
rafe of growth,
76, Which of the following state-
ments is correct? o
i mics is importan
U xdg;ozxﬂgmicu]ar household
and a particular firm

(&) Macro economics is important for
study of economie conditions of

A couniry
{¢) None of the above
() Both (a) and (5)
77. Mr. Satish hired a business con-
sultant to guide him for growth of his
business. The consultant visited his
factory and suggested some changes
with respect to staff appointment,
loan availability and so on. Which
approach is that consultant using?
(a) Micro economics
(b) Macro economics
{c) None of the above
(d) Both (a) and (5}
78. Which of the following would
be considered a topic of study in
Macroeconomics?

(a) Theelfect of increase inwages on
the profitability of cotton industry

(h) The effect on steel prices when
more steel is imported

BUSINESS ECONOMICS

{c) General price level
(d) Level of employment
[Ju[}r 2021]
80, Which of the following is 5 Pary
of the subject matter of macrq il
nomics? i
(a) Study of Arms
(b) Aggregate profits of a firm
{¢) Market demand for a produgy
(d) Net national product
[CA CPT Dec. 2013
81, A study of how increases in 1,
corporateincome taxrate will affeq
the national unemployment rate 5,
example of
{a) Macro-Economics
(b) Descriptive Economics
{¢) Micro-economics
{d) Normative Economics
[Nov, 2019)
82. The Macro Economics does not
cover the area of
{a) General price level and interest
rates )
(b) Level of employment and rate of
economic growth
(¢) Balance of trade & Balance of
payments

CH. 1 ; NATURE AND SCOPE OF ECONOMICS

84, Shyam : This year due to

heavy rainfall my option crop was

damaged

Krishna: Climates affects crop yields.
Some years are bad, other are good
Hari: Don't worry - Price increase will
compensate for the fall in quantity

1.13

(¢} Thegeneral pricelevelandinterest
rates
(7 Economics conditions of a Sec-
tion of people
[Jan. 2021}

Nature of Business Economics

supplied
Radhe: The Government ought to
guarantee that our income will not
fall. In this conversation, the norma-
tive statement is made by

(a) Shyam

(k) Krishna

(¢) Hari

(d) Radhe

[CA CPT May 2019]

85. Which of the following state-
ments is incorrect about Macro
Economics?

{a) Macro-Economics is the branch
of Economics that deals with
the study of the behaviour and
performance of the economy in

total.

{b) Macro-Economics studies the
particular market segment of the

CCOnOomyY.

(¢) Macro-Economicsdealswithvari-
ous issued like national income,
distribution, employment, gen-

87. Business Economics enables
application of economic logic and
analytical tools to

{a) Bridge the gap between theory
and practice.

[b) Increase the implementation sci-
ence.

te) Increase the effectiveness.
(d) Apply tools of macro economics.

88.Business Economicsreliesheavily
on the techniques of 3

(4) Micro Economics

(b} Macro Economics

lg) MNMormative Science only
{d) Economics discipline only,

89. Which one of the following is not

the scope of business economics?
{a) Cost standards
(b) Cost analysis
{c) Demand analysis
(d) Inventory management

[July 20211

i . i 90. Business Economic is pragmatic
(d) Itisappliedtoenvironmentaland inapproach because of which of the

(d) Product Pricing.
83. Normative science suggests

(¢) The effect of an increasing infla- eral price level, money, and more.

tion rate on living standards of

people in India which of the following? e ienes: T L
@ eﬂ;ectffof an incrisie m the < ia) What Shiould e [Deec. 2021] (a) Based on assumptions
gf@zﬁlg onthe quantityof () what to produce 86. Which one of the area comes ‘P) Tackles practical problems

(¢) Considers profit only
(d) Considers internal value
[June 2022}

91. Which of the following is a nor-
mative statement?

under macro-economics?
{a) Product pricing
(&) Consumer behaviour

79. Which of the following isnota - ©) H1OW o produce
study of Macro-economics? {d) When to produce

{a) Consumer behaviour [June 2022]
(b) National Income
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(k) Centrally planm

216. which of the foll,

= wtn
gxnml‘-'l" of Socialist '-'{‘D'nn"? h'l. (o) Mized Economy

{a) Erstwhile USSR,

(e} Mined 2y
() Mone of the ahwve e T -
221, Sociallst Economy is also

known as gy €

0} Pul

public enterpris
(h) Planned Economy [Dec. 2OZ1)
276, Which economic system I3 de

) self-regulatory eonnamy
jred pronomy

| Nov. 2020]
economy the
is done by

i
() Unorgan

212, In a socialistic
allocation of resources

(¢) Market prices

(k) Consumer preferences

(¢} A central planning authority
(d) The level of corporal® profits

i North Korea
{c) China and Cuba
() All of the above

217.A socialist economy jg
which of the following

{a) Command economy
() Military economy

Ea],kdi

[June 20221  (c) Behaviouralist economy
212A. involves the  (d) Applied economy
predominance of bureaucracy ?
rmﬂﬂngmingfﬂciﬂﬂdesmdddny& : [Tune 2y

218. The demerits of Socialism

(¢) Socialistic economy
(k) Capitalist economy
{c) Mixed economy
{d) Free market economy
213. The erstwhile US.S.R. is an

not include:
{a) Predominance of bureaucra
{h) Red tapism & Favouritism -
(¢} Corruption

exa.mple‘of - economy.  (d) Consumer Sovereignty
(f:‘; g:::z_ﬂrﬂ 219. involves th
o ialis predominance of bureaucracy a
t;}) ;‘.lnm!i resulting inefficiencies and delay
2‘{4 Th::n o {a) Socialistic economy
. il 1] Smian’ & s
tecono- () Capitalist economy

m}'“’aﬁmpollﬂdedbj'“mm.m.'...m.
(2) Karl Marx and Adam Smith

(6) Frederic Engels and Adam Smith
{e) Frederic Engels
the CoF

(d) Karl Marx and Frederic Engels 220, Under
[July 2021] sumers have no freedom of choi®

(¢) Mixed economy
{d) Free market economy
[June 20

(¢) Capitalist Economy
() None of the above
[CA CPT Dec. 2013]

222, Socialist economy is called as
(a) Centrally planned economy
(k) Mixed economy
(c) Private cconomy

(d) Consumer economy

[Dec. 2021]

223. In which economic system
uctionand distribution of goods
ervices aim at maximizing the economy.
welfare of community as a whole

and s

(q) Normative
(b) Mixed

(¢} Socialism
{d) Capitalistic economy

Mixed Economy

[Nov. 2020] used in the Mixed economy.

scribed by Schumpseier as capitalism

in the oxygen tent?
() Laisscz-laire E
(b} Command Econaom

(¢) Mixed Econormsy

() Agrarian Econormy
[CA CFT Mav 2018)

227. The Government jtsell must
run important and selecied indus-
tries and eliminate the free play of
profit motive and self-interest. It s
applicable in case of _

(@) Capitalist
(b} Socialist
(e} Mixed
(d) Price

227A. ~___ botharethe tools

(a) Price mechanism and market
(b} Centralplanning and bureaucracy

224. In which economy market and
government both play on importiant

role?
{a) Mixed economy
{b) Socialistic economy
{¢) Capitalistic economy
{d) Business economy

[CA CPT Nov. 2018]

(¢) Price mechanism and central
planning

(d) Administered prices and competi-
Hon

228. Co-existence of public and

private sector is the feature of

(@) Capitalist Economy
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pART 1 BUSINESS &
2.2 is
the 10A: — = 18 Ny

of iy demand it signifies minant of demand for Comy, ttg.‘h
" of the firm (@) Price of substiture ¢ T iy

= . 5 LTy T
(a) Product share (&) Price of -:f‘rm]ﬂ'e:uvm,-,h. m:j"'l‘\

(b) Market share (© (Ifonsll"'lt:‘l' eXPeCiatio,, :

i) Demand future price of the "“"Inm:]."'l.-.
s AR iy

() Supply (d) Quantity of stock of (he con y
{June 20221 ity "oy

7 The quantity demandedis——

{a) Flow
(b) Srock
(c) Single isolated purchase
{d} Concept without reference !
e,
8. Effective demand depends on.
(@) Price
(B) Cost
() Desire
{d) Product
[Jan. 2021]
9. In economics, Effective Demand
for a thing depends on :
(a) Desire
{b) Means to purchase

(c) Willingness to use those means
for that purchase

(d) All of the above.

Determinants of Demand

10. All of the following are determi-
nants of demand except:

{a) Tastes and preferences,
(&) Quantity supplied,
(¢} Income of the consumer
{d) Price of related goods,

11. Which isnotan !i.l'nponnnl i
that determines demanc> o

{a) Price of commodity

(k) Disposable income of Congyy

{c) Tastes and preferences of i
? (4) Educational q“a]jri“aliﬁﬁ I
buyer o

[Dec, 202

12. Which of the following wil] 57
the demand for non-durable Buu;::t

(a) Disposable income
(k) Price
() Demography
() All of the above
[CA CPT May 2019

13. What is not a determinant
demand?

(a) Comsumers expectations

(k) Consumer’s tastesand preferences

(c) Income of the consumers

{d) Prices of unrelated goods.
[Jan. 2021]

14. The term “Ceteris Paribus" refers
to 5

(@) Other things being equal
{b) Other things also change
(¢) Other things may change

O 2 THEGRY OF DEMAND

15 Ceteris Paribus, the demand for
a commodity Is inversely related to
ita price. This happens because of :

{a) Income Effect
(b Substitinion Effect
{e) Both {a) & (&)
{d} None of above

16, = isfare the
types of Related Commodities.

(a) Complementary
(b} Substitutes
(e} Complementary and Substitutes

(d] Complementary or Substitutes

16A. The increase in demand on
account of anincrease inreal income
is known as:

(2] Substitution effect
(6] Income effect

{c) Marginal effect
{d) Demand effect

17. Which one of the following
set of Commodities represents
Complementary goods?

(@] Tea and Sugar
{b) Automobile and Petrol
(¢) Pen and ink
{d) All of the above
18.

simultaneously.

{a) Complementary
(b) Substitutes

(c) Similar

(d) Un-related

and which occupy a substantial place
in consumer's budget are called
R - L

are those goods
which are consumed together or

fa) Speculatr
(b} Prestige
{e)] Conapicunus
id) Giffen
[July 2021}

20. When two commodities are
complementary, a fall in the price of
one (other things being equal) will
cause the demand for the other 1o

() Fall
(b) Rise
(e} Remain constant
{d) Fall substantially

21. Two Commodities are called
S when they satisfy
the same want and can be used with
ease in place of one another,

(a} Substitutes
(b} Complemeniary
(e) Un-related
(d) Opposite

22. There is a relation
between the demand for a product
and the price of its substitutes.

(a) Direct

(b} Positive

(e} Indirect

d) Both (a) & (b}

23. In case of Veblen goods, the de-
mand curve is

{a) Horizontal
(b) Vertical

() None of the above

19. Goods which are inferior, with
no close substitutes easily available
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&) Ioromsd anil the .h-u\lﬂ'd: ) Market clearing
\ MI: fish will <hift 'ghl\"‘"' X (il Inlerior gl

o changt but thery ":;" h\'“; I-'llh () Normal goods
f) N ag the dema the price of 0 40

cment along I a4 10 P Tange 1 [CA CPT May 2019)

CrEnses, the demand foy h’;l‘!' It
L8 |

4o, 1f » short run supply curve is
plotted for the following table which
presents price and guantity of fighter

(e} Increase
alrerafts, what will be its shape?

l“ Decrease

the .
,‘:‘:{7"" Mmhm ghen x (¢} Remain the same, Price in millions Number of
hone e SRR (d) Become negative, of § Alrerafts
¥ goods 124 28
(&) Complementany 45, At hrlﬁt:: l;l'fms people de e e T 28
| Substitutes mure of certain goods noy For g [
{¥) Su worth but for their prestj, . iy 150 28
() Nermal This is called B¢ Valy, 160 28
() Giffen {a) Veblen effect. 175 28

41. Potato chips and popcorm o (b) Giffen paradox. {a) Horizontal straight line parallel i :
mrue_m ::Hhe in the Tﬂ:—f © Ve aituct to the quantity axis o) e ?;;thm th: n:{‘;nll'i;:l];iﬂl:i!':f‘,'. the
ci.lﬂ SPEEIJ]EI - W i SUMET & a n the price
llll.dfurp:pmll' and the quantity () None of the above, (b) Slﬂ:pi:; :smg with elasticity less of the normal good
of popcorn . 4 tc) A fall in th 3 comple-
46. With a fall P E e e price of a comple
o) Inciadis At mmmm'lﬂ;: in the prig, of {e) :xc:‘sllcal straight line parallel to Y n;emary good with the price of
(k) Increase: decrease. Ayt ) : the normal good unchanged
= ; (a) Cullls:sf'l'mrs real incom, . {d) A perfectly elastic supply curve ) A fall -mhme oxice of the ormal
h . g\o.c.d hi £
() Decrease; increase. (&) Consumer’s real income decrig Demand Function same A b e
Pl v gt SO 30. A Symbolic statement of a rela-
e e ; . () There is no change in the p, tionship betweenthe dependent and Law of Demand
conspicuousgoods”is: income of the consumer the independent variables is called
(a) Veblen effect (d) None of the above WA S “&Th;il:w of Demand, assuming
(b) Bandwagon effect ' (a). Fusictio S U [ Rcidn it ea-
e e S ek
- s fquan lemands a) Income of the consum FE
{d) Demonstration effect IIB.QECHH&G.TMSIS becauseitiy (€ Equation qll-lantir'_u.- i gL';OdwdH;;:Eed b:_
[CACPT May2015) '@ Substitute good. (d) Variable him. -
?mwmgmwhm (b) Complementary good. 51, [nra demand function, the de- (b) Zﬁce o':'i :1 good and the quantity
comm {e) Conspi mand foraproductisthe emanded.
odity is equal 1o ofa onspicuous good. ‘ _ X ;
supplied ofthe comme ,ﬂ”'"- Juantity  (d) None of the above, ::;‘ Lﬂdelzendm Variable © E?:s(fuh g::ﬁi and the demand
1o unsold stock or no there 48, Whe xplanatory Variable 4
d. unsupplied n the price of tea decrease (d) Quantity d .
le (¢) Dependent Variab ¥ demanded of a good
People reduces the consumption? able and the relative prices of its

(a) Selling price
(&) Asking price

coffee. Then the goods are

(d) Complex Variable
(a) Complementaries

(6) Substitutes

MAND AND 2.7

$1. In & demand function, the de-
terminants of demand like price,
money iIncome, tastes & preferences,
etc. moy be regarded as

{a) Dependent Varia

() Independent Varah

(e) Related Variable
(e} Complex Variables
53, The demand curve of a normal
good has shifted to the right. Which
of the four events would have caused
the shift?
{a) A fall in the price
tute with the price
unchanged

of a substi-

of the good

complementary goods.
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2.8
&%, Whai are aveptions 1 Law
'I -
{0 bl
Uity
() Surhetinetam efiet

(o} COnEPRURES oS

(& Ditferent uscs

MIM
58, When Prive the affoct oR

creases what will be
Cuantity demaraded?
(@) Trcrosses
(M Decroases
) No change
(@) None of these
[CA CPT Now 2018]
57. An incroase in the demand for
computers, other things
same, will:
(@) Increase the number of compit-
ters bought.
(#) Decrease the price bat increase
the numberofcompiiters bought,
(¢} Increase the price of compufers,
(¢) Increase the prive and number of

computers bought.
38, In case of Normal goods, Rise in
price leads to 2

{(a) Fall in demand
(&) Risein demand
{(c) No Change
(¢) Initially rise then ultimately fall
[CA CPT Now, 2018]
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£& FOONOMIUS

y Pecrvase the prive by
T
phe nuraber O Cam, i E\_L‘!L\'},

pense the prace of ..
U'\ | (1T b Price of ¢ ‘“"lc-;\
() Decrease the price yng 4

ht::‘]ll:i:

inthe numberot AN,
|

ol o

&0, Domforts ties betwegy
{a) Inferior goods and Nevesg,
() Luawics and inferior Bood
@« Necessaries and '““h‘i‘-&
(d) None of the above,

1. If price of the comp,
s what will be the ‘f{‘;"";a
L)

Quantity demanded?

(g} Decroascs

B Increases

{¢) Nochange

) Can't say

[CA CPT Ny, 204

62. Due to increase in price of caffy
two commodities under consig,
ation are

-l'd} Substitute goods
(k) Complementary goods
{¢) Unrelated goods
{d@) Producers goods
[June 203

63. Who has given the law,
Demand?

fa) Alfred Marshall
(B) Paul Samuelson
{c} Robbins
(d) IB. Say

¢ 6.

R CMERINE 64. A Table which represents thedi
ferent prices of a good and the o
responding quantity demanded
unitoftime iscalled as g

CH, 2

it Pemand Curve

(11 Demand Table

() Demand Schedule
) Demand Tabulation

&5, The Demand Schedule depicts
_ velationship between
;;ﬁm and guamtity demanded.

(@) Divect

(B Inverse

(¢} Adverse

(d) Noné of these

— is a graphical
presentation of the

{a) DemandCurve, Demand Schedule
b)) Demand Schedule, Demand Curve
(e} Demand Curve, Supply Schedule
) Supply Curve, Demand Schedule

&7. All but one of the following are
assumed to remain the same while
drawing an individual’s demand
curve for a commodity. Which one
is it?

(a) The preference of the individual.

(&) His monetary income.
(¢) Price of the commodity,
(d) Price of related goods.

68. The demand curve has a 73. The market Demand Schedule
Slope. : indicates relation-
{a) Positive ship between price and quantity
(b) Negative demanded of a commodity.

(¢) Circular Nkt

(@ No (b) Inverse

69. The demand forpetroldecreases ¢ Circular

due to increase in its price, it is (d) No
termed as

- {a} Adecrease in demand
(6} A change in demand

FLEEORY OF PENAND AND SUTTLY

(e} A contraction in demand

() An increase in demand
[June 2021]

T70. The __ sloping De-
mand Curve is in accordance with
the law of demand which describes
price demand re-

lationship.
(@} Upward, inverse
B Downward, Tnverse
e Upward, direct
(d) Download, direct

71. The sum of individual demands
for a product at a price per unit of
time is called as 3

(@) Firms Demand

(bY Market Demand

(¢} Goods available in market
(d) Goods to be sold in market

72. The table which represents the
sum of various quantities demanded
by different consumers in the market
is called as $

(@) Demand Schedule

(b} Individual Demand Schedule
(¢} Market Demand Schedule
{d) Market Demand Curve.

74. If we plot the market demand
schedule onagraph, we get ;

{a) Demand Chart’
(b) Market Demand Chart
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[
2.12 (@) Both () & () CHL 2 THEORY GF DEMAND AND SUPFLY
s of these
) o change i I"Jm“ll L- in 104, Movement along the demand {a) The demand lo roller-coaster
(o) Wone ol these Nov 20181 98, “m,lc ““:::mllll ‘il““"'ltl W nltlwzltllylulcluuin ; rides will rise and the demand
[Ga. pnﬂ" the r:::-“l‘-:izehlztlll::l::lili o '-Ilequ fa) Expunston of Demand curve will shift to right
W ‘Mcmﬂrﬂclrh“ 4 ::ti]:u % i }llmhllnt ) Cantraction of Demand i) F.lu demand lor roller-coaster
d-llﬂlll'ld Curve 'l“l'"] be: 1 }"'k'iﬂ.‘ﬂ'- nl' RL‘][I[L‘L"( ” |l1l| 8 () Inct easedDecrensa In Demand :;:ll‘,.. |IHI;:,I:“|I,[IH::'-I.I IL'Ill:-I1:I1I:.:Lr|-j|-|rrlu1
(a) Horirontel {he right. . Price ol goods 5 (d) Both () & (b) ers for the ride
) m,__m“.md.,;]npinslﬂ (3] 104, contraction of demand Is the n— s BT EXD
i R ne 4 {¢) There will be an expansion in 1hi
Sl (¢) Change In income result of: clemand for roll '
E- ic E £ % 2 " T arredler yasier Anve as
h-,:'i Upsward-sloping o the right- (d) Change in Taste & !’rclm‘uu‘- {a) Decrease in the number of con- it complementary
there I8 A% 450, When 1:|1;lcc of apple 1y y T (d) None of the above
i m buys one rense in the price :
kg. Ra y¥8 one kg, of 4 i (W) ::Ei;:a:ed. e price of the good 104, When more quantities are de-
manded at the same price due to

o5, In case __——" cot
< .ﬂmlshll'h“““"m “ per
at that price. Now it othey lﬁ}"q
iy (o) Increase in the prices of other reasons other than price of the com-

inverse rel
lndd’mlﬂdﬁ!r!pmd"“' s
(@) Substitute goods remalns the same but the :
B lementary goods apples falls to¥ 90 per kg, N':"Wlt.: orods, et
() Cf’mj‘-' : . buys 2 kg. of apples. It is calleg () Decrease in the income of pur- in the demand Curve:
{.:;} ::Imm ?f:bow («) Demand schedule A iox Ezﬂéf;umm e, e (a) Rightward shift
one o o 5 ong the de- R
{ CA CPT May o191 () Markel demand mand curve for soft drinks is best (b) Leftward shift
example ofa good that exhibit (¢) Contraction of demand described as : (¢) No shift
mwce-ﬁ:n:d relationshipis () Expansion of demand {a) An increase in demond, () Any of (a) & (b)
() A decrease in demane, 109 A Increase in demand can
[Nov, 205 (¢} A change in quantity demanded, result from:
{a) A decline in the market price

{a) Giffen goods,
refers lua.:]w'q {d) A change in demand,

(h) Complementary goods. 101, ;
() Substitute goods. alonga curve i.e. movement fromy, (b) An increase in income
4 oth AEE AN IRCOme
(d) None of the above, poi_.nt na-n lernn th-'= same cun, [ncrease & Decrease in DD (¢) A reduction in the price of sub-
{a) Expansion/Contraction of [ 106 AT stitutes
1 e —— n Urve
Expansion & Contraction of DD @ Imnmd S AT M‘i:":" thnlult therelrnchange inde- ) An '“';Cfcuse in the price of
erease/Decrease in Demand  mandat each possible price because complements
97, In Economics, when demand for ) Shift of Demand Curv one or more other factors, such as . :
a commodity increases with a fallin ) e income, tastes or the price of some ICA CPT May 2018}
its price it is known as: () None of these other goods, ete. have changed. 110. By ‘Change in demand’ repre-
e
(2) Contraction of demand. : 102. n case of goods, thee (@) AShiftof sents which of the following?
(b) Expansion of demand. onindemand duetoapricell (h) A movement along (a) ﬂzﬁ:mvmh ':lnward and down-
(c) Nochange in demand, willtake place only if the substituth () No movement in ds on the same demand curve
(4) None of the above, effect outweighs the income effe Fo MBS G chens ih) (_.‘.hangc‘m'a-.u'.gcllilwwithchaugc
e : S income
3:'- WTMHJI - as pesmlt abdinfonss CIIR EAMUCHOE goods 107, If roller-coaster ride is a func-  (¢) Shift in the indifference curve
ce, the quantity demanded de-  (b) Necessaries tion of amusement park visit, then, . i
creases, it is called as e Gilfenwood if the price of amusement park (d) S_hll?t of the demand curve to the
(a) Expansion of Demand ( ' gouets entry falls right or left
d) Luxune; gooclis [uly 20211

(&) Increase in demand 201l
[Dec.
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2.16
i of Domnntl

¢} Cross Elasiw
mand

i E i i De
{«f) Elasticity @ iy
me <
AL S ¢ the inco AC)
if: -d':m:rfdpgsf Air Cpndtrioﬁtf;{ﬂds
ix +1.8 We can conclude

that the ACiSs ———
{a) Slt!"‘l'l""""'|!"""-’w‘t
() Inferior good

0

(¢} Necessary good

i d
(d) Conspicuous goo ? 5
124. ldenl.ifythecne!ﬁmmmfpﬂ

{a) Egqual to one.

(k) Greater than one.

{c) Smaller than one.

(d) Zero. s 2
125. Which of the following States
ments about price elasticity
demand is correct?

i ici d is
(a) Price elasticity of deman
a measure of how much the
quantity demanded of a go'od
responds to a change in the price
of that good.

(b) Priceelasticity ofdemand iscom-
putedas the pem:ntagt;change_-m
quanﬂrydemandeddiw@edbythc
percentage change in price,

(c) Price elasticity of demand in the
long run would be different from
that of the short run.

(d) All of the above,
[Nov. 2019]

126. If the proportionate change in
price is greater than the proportion-
ate change in quantity demanded of

USINESS ECONOMICS

5 c._-"nnjudil_\".l the price Clag T
demand will be v,
(a) Zero (¢) water
f.’}] 1|'|.c|ﬂﬁi"lﬁ.‘ [“'] .Fl'wr.‘lll'w
ic [Tuly 2021]
(c) Elastic 0 G
ini 0, The price of X commadity dec-
gy ::snes from ¥ 10 to 8, owing to which

Lung 205, jts demand increases form 10010120
[27. A decrease in price wij Y units. Calculate the price elasticity
in an increase in total "—”\fenu:hf“l of demand
i,

(a) The percentage change i, (&) (=11

tity demanded in less 1, " b 1
percentage change in Price, ' (c) 0.8
p) The percentage change iy 1y il2

@ tity demanded is greatey l'.l],-:::h (
percentage change in Price,

(¢) Demand is inelastic.

(d) The consumer is operating o), - then
a linear demand curve ay 5 paiy (a) Demand increase by 25%
atwhich the priceis veryloy 1y pemand decrease by 25%
the quantity demanded i Ve ]
ln'gh- : ! (¢} Remains constant

128. An increase in price will reg [ one ghthe ahave
in an increase in total revenue if,

{a) Thepercentage change in quan
demandedislessthan the percey
ape change in price.

{(b) The percenta
tity demanded is greater than
percentage change in price,

{c) Demand is elastic.
(d) The consumer is operating alo

[June 2022]

23
131. If price decreases from T 80 to
# 60 and elasticity of demand is 1.25

(@) It has several uses

are available
{c) It is an expensive commodity

by its buyers

a linear demand curve at a poi 133, The price elasticity of demand
aifor X is 1 and the original quantity
Jn demand of X is 90 units, if the price
of X decreases from ¥ 300 to T 180
129. For which of the followillhe) ynie calculate the new quantity
product elasticity of demand 'gerand of X

highly elastic.

atwhich the price is very high
thequantitydemanded isvery

(a) 36 units
(a) Salt (b) 120 units

(b) Life-saving medicines

cil 3 THEORY OF DI

[CA CPT May 2019]

132. The elasticity of demand for
a product will not be higher when:

ge change in quy (b) More substitutes for the product

(d) It is considered a necessity

AAND AND SUPPLY

(e 126 units
(] 144 unins

[Now. 2020]
134, In the case of a straight line
demand curve meeting the two axes,
the price-elasticity of demand at the
mid-point of the line would be:

{a) O
() 1
e} 1.5
(dy 2

135. The Concept of point elasticity
is used for measuring price elastic-
ity where the change in° price is

{a) Finite

{b) Limited

() Infinite small

(d) Mone of the above

136.
Y

3014d

0

QUANTITY

(a) Elasticity at pointA== atB==>
l,atC=1,atD =<l and E=0

{b) Elasticityat A=0,atB=<1,at
LC=1,atD=>1andE==

(¢) Elasticityat A=0,atB> 1, atC
=1,atD=<landatE=0

(d) None of these
[CA CPT May 2018}









{b) Pasitive and greater than one
(¢) Pasitive and lesser than one
{d) Negative and greater than - I

than one.
fr) Zeroincomeelasticityofdemand.
{d) Income elasticity of demand is
greater than one.

i71. When income increases the
money spent on necessaries of life
maynot increasein ﬂlﬂmmpw.
tion. This means:

{a) Income elastici
icity of demand i
ZEera. ¥ f nd is

() Income elastici
fos; elasticity of demang jg

{b) Income elasticity of demand less

pat 1 DS
pL12 ) fpcome elasticity ob degy,,
et (UsE Arc Elns greater (han one iy
ool dl‘m"“:or:-: () [neome elasticity ol demy,
bty Met Jass than one. Ll
0
i averageincome of reg
) 1O gzmo cities A and B and l:l]c iy
15 roi pundi'l'lﬂ change in demn“d‘%
W) 20 w0 s is given in the fol) fiy
i ¥ B
168A. The old income P gable. Which of the following *“‘tn!
by 20% in a year fﬂﬂf;%ﬂnm“w ments is true? \
demand for Jemantd T change in | % o
is income o ; d°m®
| Gongdy
{a) 1.5 o
(k) 0.5 - ,__1._5‘.___“‘
{a) Both apods are normal googs |
:] Al both cities A and B fn
() 5 ; : :
Jusury (B Good Xisa normal good in
169, Income elasticity of et good Yis an infEl'iorm
B incity &
(a) Zero

(¢) GoodXisa normal in both cifies

good Y is an inferior good in iy
B W

(d) Need more information o make

[Nov. 2019] and accurale comment
l?ﬂ.'l‘hequanlitypmthasedmnnim 173. As income increases, the con.
constant irrespective of the change ST will go in for superior goods
in income. This is kmown as and consequently the demand for
(@) Negative-income elasticity of inferior goods will fall. This means:
demand. {a) Income elasticity of demand less
than one.

(b) Negative income elasticity o

{¢) Zeroincome elasticity of demand
(d) Unitary income elasticity of de
mand.
174, Income elasticity of demand s
S;’llla.c:llated by dividing percentag
ge in by the percent
{a) Income, Demand
(b) Demand, Income

=

(g FHIEE

179, 1, as pe ople’sit

the
decreases, the good i%

(¢} Inearms Pyl

] lh-m-.mc!. Price .
5 following Is

. he
_ Which on¢ of 1 : | e e
1175 sreposition an the relationship fa)
:wl.\l'tenirlﬂﬂﬂ'wl'hl!ilcllyuidr_‘nmnl‘ (hy A normal goot
,:E“dthcpwpor‘llnnufincnmz-\pcnl (o) An inferior g0
s tion of income on 2 {d) A complement

he propor ion of income 1 B "
e sarre asincoeme 180. The income elasticity of toma

ood remmaiis the
increase, then ingome
for the good is equal to one. |

(k) 1fthe proportion of Income spent
an good increases as income 1n-
ereases, then the income elasticity

for the gooads is greater than one.

{¢) TEthe propartion of income spent
" on a pood decreases as income
riges, the income elasticity for the
good is less than one.
(d)y All of the above.

176. Forall
income elasticity

[a) Normal

(b) Interior

{c) Luxury !
{d) All of the above

177. For all
come elasticity is

elasticity

goods, the
is positive.

goods, the in-
greater than one.

(a). Normal
(b) Interior
{¢) Luxury
() Al of the above.

178. If a good is a luxury, its income
elasticity of demand is:

{a) Positive and less than 1.

(b) Negative but greater than 1.
(¢) Positive and greater than 1,
(d) Zero,

v DiEALANT

ioes is 0.25, it means iopmatoes are:
(b} Lusury goods
181.Suppose

education in private school in India
is 1.6. What does this indicate:

2.23

income |rn.|'1:-|-.4:h.
led of
called

i - a pood
guaniity demant RO

a) Inferior gercks

(¢} Normal goods

{d] Can'tsay

the income elasticity of

{a) Private school cducation 1is 3
Taxury.

(B) Private sichool ¢ fucah
Cessily

¢) Private <chool education s 4t
inferior commodity.

{d) We should have morc private
schools.

122.Suppose potatoes have (-) D4as

income elasticity. We can say from

the data given that:

(a) Potatoes are inferior goods.

(h) Potatoes are superior aoods,

{c) Potatoes are necessities.

{d) There is a need 1o increase the
income of consumers so that they
can purchase potatoes.

183. If the income elasticity is less

than one, it shows that the goods

is either relatively least important

in the eyes of consumer or it is a
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2.2¢ 204 The
3 i 3
Bas q..,_unﬂxfﬁﬁ that the r:::_:z__:__ tyy 5%, The Sl elas
g e Arel—— = ”,. {(e) 2 i for X commodity is
(bl O pature: h ) 3 (1) 025
() 4 (@) Complementary 207. Advertisement clasticity of de- s
e f complementaty (2 substituted Tnand values between _H:_ a z
201, In CARC wra_...._nnn.qo_.o_nan_u (¢} Inferior and € .
A.Al.n_u.ﬂ.l_ﬂhﬁ uantity mﬂ—u._:n_n._n—m Giffen {a) One. infinity o) ()
¥ :h.ﬁn% © e cross elasticlty S (b) Zero, infinity [June 2022)
ﬁ : - ] i
of demand between these gl isement Elastici {dEereL O 212, The zero advertisement Elastic-
R mknm.ﬂ:lml.l||mkfff (d) (-) Infinity to (+) Infinity e epresenin
(@) Positive Em.?”ﬁﬁ“ﬂnnﬂ»ﬁ%”“ﬂﬂgg ubm._anemanm_bmn_nm:nmﬁamnnnﬁﬂn_ (4} Demand responds proportion-
(h) Negative E.HM_B S oufagond d Cman, s ypically £ ————— ately
(c) Zero Nnﬁ%uu Nde)  (g) Negative (h) Demand does not respond pro-
f - i Ty
: ity % “. (b) Zero portionalel
n“_.w_ ”””:u:ﬁ aumerical value of @ - h“—.:..:om._nw_ {c) Infinity (¢} Demand does not respond at all
. When : ; .
cross elasticity between fwo wooﬂ_m (b} m.mw. Unit a M__,.M..H.PS:SE _u.._n_mm (d) Posiuve (d) Mone of the above
is very high, it m ple ) F R mn?naaaw [June 2022] 213. When the change in demand
(a) The goods are perfect com (d) Firms spending on distribyy; £ G is less than proportionate chanze
4 ments and therefore have to be Usually, higher th ngio0s hat el b the ot ement . dvertisement expenditure, the
206, Usyally, & € value o elasticity? S .
used together: advertising elasticity, greater g i S advertisement elasticity (E,) will be
(b) The goods are perfect substitiles e the responsiveness of demandy, i E,.u:m.mm,_mhsmH.ZM_ Z equal to __ "
wsunbuvmﬂm&i_m_ﬂ.mnﬁv_unn a&%aﬁ_cﬁm&wﬁsnﬂn. Therefore &4 change in Price = (@) E, =0
of one another. usually advertising elasticity of do. % .n:mum.w in advertisement Expendi- (b) E>0
(c) There is a high degree of mandistypically ~ qure=25% % S
cubstitutability between the two (a) Positive (@ 1.2 i
gootls (k) Unitary (b) 0.83 d) E=0 but = 1.
{d) The moomm.ﬁ..nnn::ﬁ_w:m:ﬁm. Nt e
fore cannot be considered as n..q.u BEE Ve e} 1 Demand Forecasting
substitutes. (d) Zero {d) 25 ; ———
L WLl the demane changesata - 214 Which of the following state-
: ments is correct?

206A., Ram and sons are going for
heavy advertisement campaign to
enhance their sales. When analysed
it was realised that the expenditure
on advertisement by the company

203. The price of 1 kg. of tea is
Z 30. At this price, 5 kg. of tea is
demanded. If the price of coffee
rises from % 25 to T 35 per kg., the

quantity demanded of tea rises from
5 ke. to 8 kg. The cross price elastic  has gone up from 2 2,00,000 to
ofteads. ~ TUTIRIEGE ¥ 3,00,000 and the sales of this
(@) 1 product increased from 10 lakh
®) 05 units to 20 lakh units. What is the
o advertising elasticity of demand?
) 0 ik

(®) 4

- [Jan. 2021]

2.27

Py or o AANTY ANLE S FRLY

2] 8/

ertisement elasticity

higher rate than change in advertise-
{a) With the help of statistical tools,

E@Eﬁﬁﬁ%.?ﬂ%.mwnamﬂ
m“_wm-u.nnn%ﬁ_u_un - the demand can be forecasted
(a) Zero s accurately.
(b) One {h) The more the number of substi-
tutes of acommaodity, more elastic

is the demand.

(¢) Demand for butter is perfectly
elastic.

(d) Gold jewellery will have negative
income elasticity.

(e} More than one
(d) Less than one
211, If the advertisement expendi-
ture on X commodity increase by
20% and demand foritincreasesonly
























42 sy | ¢ USING
2.
325. Which ol the following whate-
ment is correct?

| Supply 1 inversel relpred to 118
() %

cost o producton
&) Price and gquantity ._lvnmm.l. ol a
: lationship

have dinect @
{ subsidy has no impact
Iy of the prokduct

l?'\"l‘l-1"

() Thxes amk
an the supp
| changes havena impact

71 Seasona :
Iy of the commodity

an the supp
326. If a short
is plotied for t
which presents
of the aeroplanes,

price

what will be its

g% FCLY

350
(a) Horizonial straight line parallel
1o the guantity axis
(h) A perfectly elastic supply curve
{c) A perfectly inelastic supply curve
(d) Steeply rising with elasticity less
than one
[Dec. 2021]
327. The term supply refers 10 the
amount of goods or services that
the producers are ... 10 the
market at value prices during a given
period of time,
{a) Willing to offer
(b) Able to Offer
() Actually Sold

(d) Both (a) & (b)

sl

peterminants of Supply

hich of the following is a g
nining the supply?
o good

128 W
tor deter™

(@) Price ol th
Jatcd goods

b Price ol e
(or of Production

el price of tac
W) All ol the above.

ing equal
l_h:: ______, the quanlity of it th,
will be supplied.
(a) Higher Lessel
(k) Higher. Greater
() Lowen Lower
(d) None of these

e

330. Under conditio
supply will be more than that ung,
conditions

e -
{a) Compelitive, Monopolized
(b) Monopolized, Competitive
(c) Manopolized, Olizopoly
{d) Duopoly, Monopolized.

331. The supply of a particul:
product depends upon the stater
technology also- Inventions andii
end to make it possili

oods wil

novations I
to produce g
the same resources.

{a) More
(b) Better
{c) Lesser
{d) More and/or Better

Law of Supply

332, According to law of supy
change in supply is related to?

{a) Price of goods
(b) Price of related goods

TRy OF LF

() P yars of 11|neh|| LR m

ahove

il M ol the
[CA CPT Nov. 2018] {
the demand Is more than

a3a. If
then the pressure on price

supplye
will bet

(a) Upward

k) pownward

() Constant

(d) None of the above

334, If the supply of bottled water
decreases, other things remaining
the same, the equilibrium price
and the equilibrium
quantity .

{a) Inicreases; decreases.

(h) Decreases; increases.
{c) Decreases; decreases.
(d) Increases; increases.
135, In the book market, the supply
of books will decrease if any of the
following occurs except
(a) Adecreaseinthe number of book
publishers.
{b) Adecreasein the price of the book.
{c) Anincreasein the future expected
price of the boak.
{d) An increase in the price of paper
used.

336, An increase in the number of

sellers of bikes will increase the
{a) The price of a bike.
(h) Demand for bikes.
(e} The supply of bikes.
{(d) Demand for helmets.

337. If good growing conditions in-
creases the supply of strawberries
and hot weather increases the de-

EALAMIY AR

of strawberries haought.

(h) Does nol change

{¢) Does nol change

138, The supply curve for perishable
commoditiesis ________——

2.43

and for strawherries, the guantity

4) Incroase 5 and the pr
fall or not changs

rses
bait the O
it n ™

I-EIH-‘
(d) Increases and the price

s

{a) Elastic
(k) Inelastic
{¢c) perfectly elastic
{dy perfectly inelastic
339, When supply price increase in
the short run, the profit of the pro-
ducer :
{a) Increases
(b) Decreases
{¢) Remains constant
(d) Decreases marginally
[CA CPT May 2018]
340. The is a graphical
presentation of the :
{z) Supply Curve, Demand Schedul
(k) Supply Curve, Supply Schedule
{¢) Demand Curve, Supply Schedule
(d) None of these.

Increase or Decrease in the
Quantity Supplied

341. Contraction of supply is the
result of:
(a) Decrease inthe numberof produc-
ers.
.':b) Decrease in the price of the good
concerned.
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PART 1 musIN s HOONOMICS

W The ractog Used by the furmey in
Planting angd cultivating nog only
wheat but alse corn and barjey,

@) The number ol howrs that the
farmer spends. in cultivating the
wheat felds

106, Law of vay hlepmputﬁﬂnls
valid when: y

{2} Onaly one input g fixed and all
other inputs are kept variable

110, Production activity in thic 5
period is analysed with ihe hely, i

I} Law ol vartable propon,.,,

(8 Laws of retirns to scale
() Both{a) & (b)
(1 None of the above
[€A CPT Dec. 2,
111. The Law of Variable p,

I'nm
(b) All factors ane kept constant tions is associated with:
€} Allinputs ape varied in the same (&) Short period
Propartion {6) Long peui_od !
{d) None of thege (e} Both shert and long periagds b
[CA CPT Nov. 2007] b

{d) Neither short nor long perigg
[CA CPT June 2015]
112. The “law of diminishing
. returns” applies to :
(@) The short run, bur not the lon
s

107. Diminishing marginal returns

8) .?l'!ie-=i@:r|.:g' run, but not the slgy

(€) Both the short run and (he fong

{a) 50, 50, 50, 5p T 201
17 et 0 "113;-nislawofnda'blepmpu' oportia
(5) 50, 110, 180, 260 is drawn under all of the i

(<) 50. 100, 150, 200
{d) 50, 90, 120 140
[Nov. 2019]
108. In short run the Law of variable
Proportions isaisoinownas

| (@) Law of in ing returns
{ (&) Law of diminjshing refurns
(c) Law of decreasing refyms
(4} Law of €onstant returns

[Jan. 2021]

divisibility of factors
elnlization.
o "a-m.ic\ of scale,

goth (a) &

reasing ratc

istant rate

CHY THED Y ¢y

the fixed facior
{h) above (0] Divisi
[CA CPT June 2010] (B} Fles
e Hest Stage of law of o o
Hglpﬂ,purllnns. total produyc 7 D)

h {a) and (b),
[CA CPT Dec. 2010)
ng 2nd stage of law of pj.
returns:
and TF is maximum
1d AP are decreasing
negative
': ‘negative
[CA CPT June 2008]
al producer will pro.
e stage in which marginal
positive and :

[CA CPT June 2016]

1ng marginal costs
reasing average fixed costs

[CA CPT May 2007]

PRI

19, The
IR ret g

120, Law of di
applicable in-

{a) \'l.unul;mn.,».r,g nddissim

121. In the third of the three stages
of production-

A

Y15

phfnr-m-_-nnrl of diminish-
TEELS upan the of

minishing returns is

(B) Agricultyre
le) Neither ia) nor (b

{d) Any ECONOMIC actiy

W al 3 perint

of time.
[CA CPT June. 2009, 2010,
Tune 201 2]

{a) The marginal product curve has
a positive slope

B} The marginal product curve lies
completely below the as erage
product curve,

e} Total product increases.
{d) Marginal produet is positive
122. Diminishing marginal returns
implies
(@) Decreasingaverage variable costs
{5} Decreasing marginal costs
(c) Increasing marginal costs
() Decreasing fived costs.
[CA CPT Dec. 2015, May 2019]
123. The “law of diminishing re-
turns” applies to
(a) The short run, but not the long
run
(b) The long run, but not the shont
run













3.22
PART |- HUSINESS K

168. Outlay Co P
expenditure o
terial,

stsinvolve
f funds on wages, ma-
Teturns interest, H:,gr a

(@) Actual

(B) Expected

{e) Fixed

(@) Planned
169. Outlay costsinvolve
expenditure at some point of time
and hence recorded in
the books of account.

{a) Financial, are not

(b} Financial, are
(¢} Non-Financial, are not
(d) Non-Financial, are
170. Opportunity cost is:
{a) Direct cost
(&) Total cost
() Accounting cost
(d) Cost of forgone opporiunity
[CA CPT Nov. 2006]

171. The cost of one thing in terms
of alternative given up is known as:

illin
the Jang riin mm_’e’”l’]??j'in \Ta_lue that i

g;:::)' costs and Opportunity () Resources will Mow aug,, |

174. Opportunity Cost is:
(@) Marginal cost *

(&) Variable cost

{c) Total fixed cost

(d) None of these

y [CA CPT May 2018]

175. Opportunity Cost is

{a) Recordedin the books of accayy
(b) Sacrificed alternative

() Both (a) and (#)

ONOMILS

prosdiction ol the goo,
supply tocectine with e I
of time

The situation will 2min

Ty
'II"ﬂI
.”'\“l:tl

changed as long as supp), '

demand remain in balape, s
[CA CPT Jung 2'”&i
173, In which of the following .,

opportunity cost concept app]ies:‘
fa) Resources have allernatiyve Usoy

(&) Resources have limited yseq
{e) Resources have no use
{d) None of the above.

[CA CPT June 3¢

{a) Opportunity Cost () None of the above
(&) Real Casi i [CA CPT May 2019
{¢) Production Cost 176. The concept of opportunity cost
(al) Ph}’SICEJ Cost has tﬂ be congidered whenever :
[CA CPT June 2017, May 2018) (@) Resources are scarce
172, If the market of (%) Decision involving choice of one
price of good is
more than the opportunity cost of option over other(s) is involved
producing it, then: {¢) Both (a) & (h) rigts
(@) 7}];’ market price of the product  (d) Neither (a) nop (b)
will increase in the long run 177 On
Y Pt -Opportunity cost is the -

s foregone in choosing

el

- 181,

\ product, proce

avtlvily, over the
: v
- pernat
ﬂ:,” Gulyjeative, other
) gubjective, next sl
w) principal, other
(el principal, next besi

the
i“ﬁﬁ that was
P fcythatwas__

A

1 (;ﬂ Norie of these

G S TIEERY OF PR Tio 401 €

3 m,m-lunlly Cost is the cost of

178.0 opportunity and
A

lves a comparison between the

] _ and the

"(@) Other, Chosen, Should be chosen
g té] ¢ afissed. Chosen, should be chosen
; ¢) Missed, Chosen, rejectad

pirect and Indirect Costs

) Indirect Cost

(4} Traceable Cost
'Q'pparhuﬂty Cost
Eeg] Accounting Cost,

180.

- operations or plant ,
() Direct Cost
(b) Traceable Cost

- (e} Indirect Cost

(d) Both (a) & (b)
!ﬂS_ to the chan

(a) Direct Cost
(B) Implicit-Cost
(@) Indirect Cast
(@) Non-Traceable Cost.

Direct Cost is also known as :

~ [CA CPT June 2010, June 2013]

may vary accord-

ges aceruing to the  for all and cannot be recovered.
88 or machine,

.22

AL, Indirect Costs are nol essily

and defliniely identifable in rela-

tion (o w planis, products, process
lrl'|||'|,!ulllm-||| These are
changed wo different Jorbm or products
In sandard sceounting practice

{ay Mixt

th) Mever

le) Neverthels

fad) Cannon

183, Identify the indirect Cosi.

{a) Commoncostine urred for general
Operations

(b) Wages paid 1o worker
e} Material Purchased
{d) Commission Paid

Incremental Costand Sunk Costs

184, Theoretically, incrememntal costs
are relatedtolhzcumptui_

{a) Marginal Cost

(b) Fixed Cost

() Judgmiental Cost
(d) Semi Variable Cost,

. cOSls are the costs 185. Which of the fo]lnu'ing is part
that are readily identified and are of incremental costs?
raceable to a particular product,

la) Change in product line
Ab) Replacementofworn-outmachin-
ery
(¢) Buy a new production facility
{(d) Al of these

1B6. refer to those costs
whichare already incurred once and

{a) Sunk Cost
(b) Fixed Cost
(¢) Variable Cost
(d) Incremental
















PaRT I

]
iy al an average
300 and with a fived cost of

variable cost in the fotal cost :

[Now. 2021]

259. A firm producing 15 units of
output has average cost of T 250
and ¥ 125 as per unit cost for fixed
factors of production. Then average
variable cost will be

{a) 180
(b) 150
(c) 125
{d) None of the above
[CA CPT May 2019)
260. If a firm'’s output is zero, then:
{a) AFC will be positive
() AVC will be ZEro

) () Both of (@) and ()
31 None of (a) and (L)
c:,’ :. e s o Tune 200,
() T 26 ]
12, Dec. 2017,
[CA CPT June 20 e 2017] %
Average Total Cost

10 units
57. A firm produces £
2! tnl'ﬂl;:]:;- ments s true of the relation,

{ out the component ol avera

WNOMICS

WUSINESS B

of a

261. Which of the following nml

i
ge Aamong the average cost l'um-tiuhﬁ?
(a) ATC = AFC - AVC,
() AVC = AFC + ATC.

{e) Law of constant returns 1o scale
{d) Law of variable Proportions
[CA CPT Feb, 2[)07}

264. A firm producing 7 units of oy,
put hasan average total cost of 2 150
andha.atnpayﬂsﬂtoltsﬂtedfaum
of production. How much of the aven
age total cost is made up of variable
cost?

(a) T 200
h) T50 -
ic) 300
{d) T 100

(e}

Ty

CH A THEGRY OF PRODI

Ik‘l i el C are falling while total
in Pﬂlﬂt ut Iﬂrglnil 1) Fixed costs are fal
Ma

Wm.} ey
{a) The

change in total cost due 1o 5

e unit change in sutput

- 1-0“1] cost divided by outpur,
Thechange inoutput due to a one

wnit change in an input.

atal product divided by the
() Ta'mm:,- of input.

curve as output rises is:
' ME

(a) T 300 (e} AFC = ATC + AVC. ! 2.1;‘ change in total cost due
k) €200 (d) AFC = ATC - AVC. f::-“ unit change i:: the output is
fc) TI50 262. A firm has a variable ¢y o | called cost,
(d) ¥ 100 ¥ 1000 at 5 units of ouiput. Ip fixeq | (g Marginal
[CA CPT June 2014]  costs are T 400, what will be the ;- () Average
st A P has a varable cost €rage total costat 5 units ol'outpm? : [c)'-l ge variable
nfr'zluoo at 5 units of ouwtput. If  (a) T 280 T flﬂ mmgc fixed.

/ fixed costs are ¥ 800, what will be (7, 7 49 R [CA CPT June 2012]
.'r the ...;r.‘g total cost at 5 units of fe) T120 267, wa]_cmt changes due to
] il (d) T 1400 changeln ___ cost.

parol 263. U-shaped average cost curve, I (g} 'ﬂ!lBl
(b 120 based on: : [H Flllﬁ
fe) 240 {a) Law of increasing cost m Average
(d) 2,800 (B) Law of decreasing cost fg_{lg-‘hhﬁnb]e

[CA CPT June 2014]

i ""Tlmﬂgurebeluw, possible reason
mlhg average variable cost curve
saches the average total cost

ATC
AVC

[CA CPT June 2008, Dec. 2014

Quantity

TION AND CO%T 3.33

Cowis are rising at rising output

(b} Total costs are rising and average
Cosls are also rising

(€] Marginal costs are above average
variable costs as output rises

(d) Average fixed costs are falling as
OULPUL Fises

269, MCcnrunfa!im-uinaperfeﬂly
tompetitive industry depicts?
{a) Demand curve
(k) Supply curve
€} Average cost curve
(d) Total cost curve
[CA CPT Now., 2018]
270. When shape of average cost
curve is upward, marginal cost :
{a) Must he dccrc.-s_-un_ﬂ
(B} Must be constant
{€) Must be rising
(d) Any of these
[CA CPT May 2007]
271. With which of the following is
the concept of marginal cost closcly
related?
(a) Variable cost,
(b)) Fixed cost.
(e} Opportunity cost.
(d) Economic cost,
272. What will be marginal cost of
67 units of production accounting
to the table given below:

Units of
Production

Total cost mm

(a) 10
(b) 20
fe) 30
(d) 50

[CA CPT Dec. 201 1]






BUSINESS ECONOMICS
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Law of diminishing r.,,
j : ol toaverage  (4) : Ty
) Moot (8 Ecommics of scse
(4} Marginal cost is cqual to aVErages fc) Law of ""R"'afb"’ PrOPOTLiny
cost Dis-ecomomics of scaj.
[CA CPT June 2016] [CA CPT N,
289. When AC Curve is at minimum 55  plapping curve is "E'ale‘,
then MC Curveis 7 which of the following?

{a) Minimum then AC Curve
(&) Equals to AC Curve
(c) Above AC Curve
(f) Less than AC Curve
[CA CPT Now 2018]
290, Which of the following state-
ment is incorrect?
{a) AC is sloping downwards, MC is

(@) Short run average cosp Cury,
{b} Long run average cosg c"n‘:
(c) Average variable cost

(d) Average total cost

[CA CPT June o,

294, Which of the following j5
as Envelope curve?

{a) Marginal Cost Curve

below AC
(k) AC is sloping downwards, MC (b) Average Fixed Cost Curye
must fall (c) Long Run Average cost Cyp,
{c} AC is sloping upwards, MC is  (d) Total Fixed Cost Curve
above AC [CA CPT Feb. 2008, Dec,
{f) MC cuts AC from its lowest point. June 33
[CA CPT May 2019] 295. Which of the following

291, Which of the following is true Mentsconcerning the long-run

of the relationship between the mar-
ginal cost function and the average
cost function?
(a) If MC is greater than ATC, then
ATC is falling.
(&) The ATC curve intersects the MC
curve at minimum MC.

{¢) The MC curve intersects the ATC

(a) It represents the least-cosy
combination for producing
level of output.

(b) Itisderived fromaseriesof shy
Tun average cost curves,
{¢) The short-run cost curve a
minimum point of the lo

curve at minimum ATC, laWﬁgeCnstcun-Freprmu'
(d) If MCis less than ATC, then ATC ;;ift::: plant size for all
is increasing,
(d) As output increases, the amm
of capital emploved by

Long Run Average Cost Curve increases e mo&zdc:;:hc I

292. If LAC curve falls as output
expands, this is due to 3

%

CH THEDRY OF PRODA

The negatively-sloped (i.e. fall-
296 of the long-run average

Lo

i) . A
ing cost Fur:c is due to which of et Acals
the OWITLE-

e es of scal (b} Increasing returns 1o factor

1 SONOIMIES Ol seale £
al g {c) Law of variable proportion

&) Dimini_r.hing returns

) The difficulties encountered in
e cwrdinntmg the many activities
of a large firm.
The increase in productivity thai
results from specialization
297. A firm's long-run average total
rﬁ’t curv is.

(a) Identical lnil&loll;:-liln marginal-
cost curve as all factors are vari-
able.

{b) Also its long-run total cost curve
because it explains the relation-
ship cost and guantity supplied
in the long run.

{¢) Infacttheaverage total costcurve
of the optimal plant in the short
run as it tries to produce at least
cost.

{d) Tangent to all short-run average
total cost the curves and repre-
sents the lowest average total cost

for producing eachlevel of output.

Economies and D'isecnnomies

of scale

299, External economies accrue due

{d) Low cost
300. External Economies arise due

la) Growth of ancillary industries

(b} High cost of technologies

3.37

TIOM AND COST

[CA CPT Now. 2007, May 2018]

le) Increase in the price of factors of
production

(e} None ol the above
[CA CPT June 2013)

301. External economies can he
achieved through:

ta) Foreign trade only
(b} Superior managerial skill

e} Extension of transport and credit
facilities

(d) External assistance

302. When output increases more
than the increase in input, it occurs
due to
(a) External and internal disecono-
mies

(b) External and internal economies

298. The positively sloped (rising)
part of the long run average cost
curve indicates working of the

{a) Diseconomies of scale

(b) Increasing returns to scale
(c) Constant returns to scale
(d) Economies of scale

(c) External diseconomies and inter-
nal economics

(d) External economies and internal
diseconomies

[Nov. 2020]

303. External economies can bhe
achieved through

(a) External assistance
(b} Development of unskilled labour

[CA CPT Dec. 2014)



=
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) Superior managerial efficiency
(d) Technologicalexternal economies
[Nov. 2020]
304. Economies of scale exist be-
cause as a firm increascs its size in

Miscellaneous
decision m,
Issue requiring: alciy,
lJﬂO&m‘ context of business are:
) Howmuch should be theoptim,,
= output at what price should the

CH. 3 : THEORY OF PRODUCTION AND COST

1 of the following state- e Production cost

hic” o () Nominal value

§lation of capital depends [CA CPT Nov. 2018)
mE - ncome of individuals,

i 316. A firm will close down in the

short period if its MVErage revenue
is less than its:

la) Average cost

can be influenced by

ent policies.

"

economies go with size
ol economies with loca-

b} Average variable cost

curve of labour isan @) Marginal cost

miﬂn curve.

) Average fixed cost

firm sell?
the long run:
ta) Lu:-nur and management can ) How will me?pmducl be placey
specialize in theiractivities more. in ,_b,m,hﬂh e
As  input buyer, the firm () How to combat e
2 canngﬁrl-gi::mcg at Jower cost and G inties Invalved?
purchase inputs at a lower per d) All of the
unit cost. lbﬂwlm - m“i

The firm can afford to employ
& m:'c ::phisllcnlud technalogy

309. Long run price is also called

in production. the name of .
{c) All of these. (a) Market price
305. External Economies of Scale {) Normal price
s phiainee (e) Administered price
{a) A firm
(4 sop ot i @ Mmpcimmm 2010,
{c) Small Production L= )|
(d) Society 310. Which of the following equa.
: [CA CPT Dec. 2008] tion represents profit maximization
306. External econmomics are en- M._ tion?
Joyed: (a) MC = MR
(a) By large producers ord_y {b) MC > MR
{h) As firm expands (c) MC < MR
{¢) Both (a)and (&) (d) None 4
[CA CPT June 2011] 3L 1 i |
307. How many kinds are of gociated with
Emnon‘:.lu.of scale? @ ol By
f:} : : (b) Un-managerial economies
: ; 5 () Commercial Economies
@ 2 [Nov. 2019]
[Jan. 2021]

curve remaining un-
increase in demand

~erease in supply
~ [CA CPT June 2010]
1 Cost changes due 1o

LCA CPT June 2012]
317, Which of the following state-
ments is incorrect?
{a) The LAC curve is also ealled the
planning curve of a firm,
(B) Total revenue = price per unit =
number of units sold,
(c) Opportunity cost is also called
alternative cost, y
() 1f 1otal revenue is divided by the
number of units sold we get mar-
ginal revenue,
318. Average Revenue Curve is also
known as ;

(a) Profit curve

5 [Nov. 2019] (b)) Demand curve
of a commodity is best () Supply curve
g (d) Average cost curve
(CA CPT June 2010}
s sold
@) 3 || s (w]s Twle ] 7 (@)
@10 @) 1L (@] 12 (@] 13 (] 14 {w]
B 17. ()] 18 (@] 19. [ @] 20. [ ] 21, T |
@24 ()] 25 (] 26 {y] 27. [y | 28. L@y
B | 31 [)] 32 ()] 33 (0] 34 | 38 | @)
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(h)
(i)
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(d)

0.
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75.
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88.
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(c)

{e)

95.
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62.
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69.
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76.
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(a)

()

(c)

102.

(a)

(a)

(c)

(d)

109.

(b)

41. n_._._? |
i 49
48. # () |

LS

42

S56.

70.
17

(a)

)

(b)

116.

(b)

(d)

(b)

(c)

123.

(a)

126.

()

(a)

(d)

129.

(c)

(c)

©

(©

136.

(a)

139.

(e)

| (&)

143.

(a)

146.

| (B)

(&)

150.

(a)

153, | (

(d)

157.

(d)

[159A. ] (

(c)

ﬁ Gu.

(d)

[ 166,

(b)

170.

(d)

172. ﬂ.m.

[ 173.

(c)

177.

(b)

179. | (b

[ 180,

(a)

Hgl

(a)

186. ﬂ.ﬂ

| 187,

)

191.

(®)

193,

—

__.n

| 19,

(0)

(b)

200.

d

[ 201. | ()

T

198.
205.

(d)

207.

(b

Eﬂ- ﬁnu

(b)

212,

(a)

214.

__|_n_m.. ()

o

219.

(b)

221.

|

(a!

]

[222. | W)

(a)

226.

(b)

228.

mum. ._ (e)

(c)

233,

(d)

[ 236. | )

(a)

240

(c)

(d)
(a)

(h)

N&q -

(a)

250,

(d)

253,

(a)

fa)
(d)

257,
264,

(c)

260.

(e)

(a)

267,

()

rhqa.. ﬁn‘._ j

271,

(c)

274,

Fqﬂ. _ (c) _ 278,

(d)

281,

(a)

b)

(b)

288.

(d)




CH. 3 : THEORY OF PRODUCTION AND COST 3.41

[291. [ (c) | 292. [ (B) | 293. | () | 294. | (&) [ 295. | (©) [ 296. | (@) | 297. | @
298. | (a) | 299. | (a) | 300. | (a) | 301. | (c) | 302. | (b) | 303. | (d) | 304. | (d)
305. | () | 306. | (c) | 307. | (c) | 308. | (@) | 309. | (&) | 310. | (a) | 311. | (@)
1312 | (b) | 313. | (b) | 314. | (a) | 315. | (a) | 316. | (b) | 317. | (d) | 318. | (b)

Hints of selected questions

1. In Economics, the word “Production” is used in a wider sense to denote the
process by which man utilizes resources such as men, material, capital, time,
etc., working upon them to transform them into commodities and services so

as to make then satisfy human wants.
Ans, : (a)

2. Production does not include work
loveand affection, voluntary servicesa

Ans, ; (d)

3. Production is any economic act
are capable of satisfying human wants.

j Pﬂh- : Ahv

done within a household by anyone out of
nd goods produced for self-Consumption.

ivity EEn: converts inputs into outputs which

Am inmut is a goods or service which

S



Ans.: (a)

CH. 3 : THEORY OF PRODUCTION AND COST 3.41

[291. | (c) | 292. | (b) | 293. | (b) | 294. [ (c) [ 295. [ © [ 296. [ @) | 297. | @ |
298. | (@) | 299. | (a) | 300. | (a) | 301. | (c) | 302. | (b) | 303. | (d) | 304. @ |
305. | () | 306. | (c) | 307. | (c) | 308. | (d) | 309. | (b) | 310. | () | 311. | (@)
312. | (b) | 313. | (b) | 314. | (@) | 315. | (@) | 316. | (b) | 317. | (@) | 318. | (b)

Hints of selected questions

1. In Economics, the word “Production” is used in a wider sense to denote the
process by which man utilizes resources such as men, material, capital, time,
etc., working upon them to transform them into commodities and services so

as to make then satisfy human wants.
Ans. : (a)

2. Production does not include work done
loveand affection, voluntary servicesand g

Ans, : (d)

5. Production is any economic activity
are capable of satisfying human wants.

within a household by anyone out of
oods produced forself-Consumption.

E_&nr converts inputs into outputs which

N e TRRAnnputisa goods or service which

14 =~ A 2 4
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(€) Spot marker

{d) Future market

[Now. 2019]
"!‘hn-classi.ﬁcatinn of market on
basis of Area does not include

26.
the

() Local Market
(B} Regional Marker
{¢) Spot Market
() National Market
27. Monopsony means
() Where there are large firms
(h) There is a single buyer
(c) Small number of large buyers
(d) Single seller and single buyer
[CA CPT May 2019]

28, Which of the following Competi-
tion is characterized by many sellers
who are selling identical producis lo
many buyers?

{a) Perlect Competition
{h) Monopaolistic Competition
{e) Monapoly

{

{d) Oligopoly

29, In Jthere are few
sellers who are selling competing
products to many buyers.

(a) Monopaoly

(b) Perfect Competition
{¢) Oligopoly

() None of these

30. The degree of control is very
considerable in case of

{a) Maonopoly

(¢

(a

34, Average revenuc curve l\lsug;md

(&) Toal revenue Curve

(¢] Marginal revenue curve

35. Average revenue is the N‘wnm:
earned

(b) Per unit of output
{¢) Different units of input
(d) Different units of output

(d) fleriis ’
o Tatal PEOTIE SEEapkad

Concepts of TR, AR & Mp

as: "y

{z) Price
(k) Income
(¢} Revenue

pe TR curve and the TC curve
{d) Wone of the above

() ::I"t' Ppr:!.“l:]
32, Average revenue curve jg
known as:

{a) Profit Curve

(h) Demand Curve

() Average Cost Curve

() Indifference Curve

exceeds TR

excecds TC

en price is T 20, Quantity
ded is 10 units and price
creased by 3% then quantity
nd increased by 10% then
Marif“‘“] revenueis

() 10

m 3 1

(] T2

wy T2

ch TC
) TR
4, Wh
B F L
is de
&

al,,

33, Total revenue curve is
(a) Positively Sloped
(k) Negatively Sloped
() Downward Sloped
() Vertical to X axis o . |CA CPT May 2019
an. 203;
I 38, 1 a
ling :
::]]ing 53 units,
revenue will be

{a) B8
(b} 118
(¢) 120
() 204

a) Firm's demand curve

1} Quantity curve
[Dec. 2021

i 19, Average revenue is equal to,
) Per unit of input

unit change in output,

{b) Nothing but price of one unit
output.

CH. 3 MEANING AND TYPES op MARKETS

seller obtains ¥ 6,000 after
50 units and T 6,204 after
then marginal

45
40. If a seller obtains 2 3,000 after

selling 50 units and ¥ 3,100 afier

selling 52 units, then marginal
révenue will be:

la) T 59,62
(B T 50,00
o) % 60.00
dy T 5980

[CA CPT Dee. 2013]
41. Assume that when price is T 40,
the quantity demanded is 15 units
and when price is 2 38, the quantity
dema nded is 16 units. Based on this
information, what is the marginal
revenue resulting from an increase
In output from 15 units to 16 units-

lal 3&
(k) 32
le} 24

(dy oF

[Now. 2019)
42, Marginal revenue can be defined
asthe changeintotal revenue resuli-
ing from the;
la) Purchase of an additional unit ol
a commaodity.
{b) Sales of an additional unit of a
commodity.

[Nov. 2020] (¢} Sale of subsequent un

product.

{a) The change in Price due to a one

of

36, Average Revenue can be sym
cally written as:

fa) MR/Q
(B) Price x quantity

(¢} The change in qm[iw&
.:.J * bychange in price. vided
(d i raphically it dmﬂtﬁ-f{ﬁe"‘ o

~ supplycurve. firm's

{b) Perfect Competition
(c) Oligopoly
(d) None of these




PaRT ] Blm‘ls&fm'il"\l ws

(e} Upmards. upwards
11 Pownwardy, oo change

4.6

44, When a firm produces 7 units of
production and the TR is § 42 after

b Te
e} T4
uf) T8

2020] o) 40
. wally @ %5
wn:dﬂhﬂlhhlmd"“‘ ) 33
. id) 60
{a) Diminishing average revenuc [Mov, 202y
49, Assume that at price T 100 p,

wunit, the quantity demanded is og,
units. When price falls to 2 90 ¢
(¢} Diminishing average fized rev- quantity demanded increases

cune
(b} Diminishing marginal reveaus
e

enue curve 100 units, Compute the marging
) Diminishing costs curve TevEnue.
45, Assume that when price s T 20, (a) T0
the quantity demanded is 9 units, ) 710
and when price is 7 19, the quantity (c) 90
demanded is 10 units. Based on this e
Information, what is the marginal ) ;
revenue rosulting from an increase [Fune 2022
fnn ooutpriad fronm 9 pndts to 10 unite, 50, A seller reallzes T 25,000 afiey
fa) €20 selling 15 units and he realizes
ih) T 19 238,000 after selling 25 units, whal
; Is the marginal revenie here?
et (a) 72,500
i - {h) % 10
A6 Anather nume of desmand curveds: ¢ 7 | oo
f) MR eieve () AR ctirve IR 4 ‘i!"..'ﬂ
) Theurve () ME cinve

[ Fualy 2021
[Hune 2022] 5y, pppy pnntity demunded of pons

47 Marginal revenue ourve alopes  increnses from 15 o 20, if there In
and marginal cost curve slopes i 28% decrenns In the price, If the

. pidee lndtdally s @ 200 pur pen then,

() Derwirvnels, upwarils whal s the marginal revenue result
thh Derwnwards, doverwirda Iy T i fncrease (o the quantlly
demuided of penn from 18 1o 20,

units e

th: on to & ' 20y
i reg m revenut u.Am-crlhef""‘“"’"'g.‘*“f"_’-‘“n.:
will be THAENE;
@ TS ’lﬁl)--tw':";!j;-l

CH: 4 MEANING AND TYPE

la

[Dec. 2021])

when price is 20,
is 15 units,
rice is T 18, the gquantity
& units, Based on this
what s the marginal
jing from an increase
p 15 units to 16 units?

! Lid, sells 130 units
total revenue will be

e Averapge rey ETue

(d} Total revenue is 1

57.The am

by selling certainunits of e %
g e units of commodiry

[Nov, 2020]

SOF MARKETS &7

55-“'hiﬂmllh=fulhm.-ing staternent
S DOt correct?

) Miarging] revenue is the reverie
of an addit
CoOmmodiny

15} Total revenue is ubtamed by mul-

Tiplying the toral m
sold with 1he price per ur
Comrmadity

carned per uniy of

the sum total of
AVETAgE revenue

une 2022)
ount realized by the firm

fa} Awerage Revenue
t&} Cost of Operations
e} Total Revenue

{d) Marginal Revenue

58. ABC Ltd. realizes total revenue

of T 6,000 by the sale of 120 uniis
and T 6050 by the sale of 121 units.
What is the average revenue when
ABC Ltd. sells 121 units

fa) 50
(B} 100
(e} 6,000
() 6,050
[Now. 2020)

Relationship of AR, MR, TR &
Elastctyof DD
59, When TR is at its peak then MR
is equal 1o -

{a) Lero

() Pomitive

{e) Megative

() None of the above

[CA CPT May 2019, Jan. 2021]
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60. When the price of a commaodity
is ¥ 20, the quantity demanded is
9 units and when jts price is ¥ 19,
the Quantity demanded is 10 units.
Based on this information what will
the marginal revenue resulting
from an increase in output from 9
uniis to 10 units,
fa) T 20
th) ¥ 19
e} Tio
(e} 204
[CA CPT Dec. 2014]

61. Which one of the following
expressions is correct for Marginal
Revenue?
{a) MR = AR [122]
|_ e |

(&) MR = TRn - TRn+1
{e) MR = E

AL
{d) MR = L

Q

[CA CPT June 2016]

sz.cimmm-uunun.p[1 sl i
(3

ife < 1, then:

(@) MR <0

(b) MR >0

() MR=0

(d) None of these

{c) MR=0

() Positive
{c] Negative
(d] Maore than one

[Now. 3,

65. As a price of T 20 the g,

demanded is 10 units. With ge |
erease inprice the demand i

by 10%. The marginal re
the 11th unit will be

fa) T 20
by ®12
() TR
{d) T

[Now. 2,
66. Which of the following is eg

(@) MR = AR (e-1)e
(b) MR = AR (&« 1)e
[c} MR = AR (l-ele
(d) None of the above

[CA CPT Now, ]

{a) Positive
ib) Zero
(e} One
(d) Negative

o when e > 1 then MRis:
. ;al.??!’“"‘?
ik} Negative
itive
i Post

(@) MR =0
) MR>0
(€} MR <0

() None of the above

imcrrmzuﬁ] et
op, 1f there is change in both >
Jemand & supply but the changein (@) <1
gemand is less than the change in 75, Which o
supply, then what is the influence Correct?
on price.
() Nochange
{b] Increase
(¢) Decrease:
() Uncerain change
71. Given, AR = 5 and Elasticity o
demand = 2 Find MR.

{a) +2.5
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1€) Logg than ane

7;“ Maore than one

iuc.r;rmal revenue curve initially

o Taseaatya diminishing rate due

ler) Diminjs-l-n'ng SRRESEERICER
LUrye,

{h) Diminishing marginal revenue
curve,

) Diminishing average lixed
FEVEnLe curve,

td) Diminishing cost curve,
[Jan. 2021]

Behavioural Policies )
79. According 1o Behavioural
Principles.

tad A firm should not prodice ar all
if its total variable costs are nol

Tiger,

5] A firm will be making maximum
profits by expending output o the
level where marginal revenue is
equal 1o marginal cost

fe) Both (a)and ih)

{d) None of these
ICA CPT May 2019]

80. Time element was conceived by

(a) Adam Smith

(h) Alfred Marshall

(c] Pigou

{d) Lionel Robinson

81. In very short period market:

fa) Supply changes but demand

FART [ : BUSINESS ECONDMICS

82. In the long run: g
{a) Only demand can c]‘l;mgc
(&) Only supply can change
{¢) Both demand and suppp,
change o Sy
(e} None ol these
[CA CPT Feh, z% ;

83. A Firm should i
total revenue from its produg; d
nol its total valuable e::

{a) Produce, equal

(b} Produce at all, equal OF excagy
e} Mot Produce, equal

{d) Not Produce, equal or CRCewd

84. As per Behavioural l’rim:l;,hI|
It will be profitable for the firmy o

' n of Prices - A gxp
wat_il:l . lfﬁ'_

A ——
[ tha 1able B0 (@) Miniimumy

5] Demiand inecreases and st
decreases, o e SRRy

expand outpul whenever Ma

S is than Map
ginal

(&) ‘Crxst

) Revenue greater, Cost

greater, Revenue

fe) Revenue, less, cosi
() None of the above
85. As per Behavioural

which one of following Statemen 3

is Correct?

(@) If any unit of production
more o revenue than to
that cost, that unit will increase
Profits.

(2} If any unit of production
more to Cost, than 1o reve
will decrease profits.

5 i
m“umbﬂum price for an induas- w

in prefect completion is fixed

nul and ouipul

tdemand and market sup-
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auto :
{a) The fundamental working of the
marker.
{8} Price movements eliminate short-
age or Surplus.
(e} Both {a) and (f)
{d) None of these,
92, is the price at which
demand for a commaodity is equal to
its supply:
{a) Mormal Price
{h) Equilibrium Price
{e) Short run Price
{d) Secular Price
[CA CPT June 2008]

91. The equilibrium is restored
matically through:

I Changes in Demand & Supply

93. Whenincrease in demand is equal
toincrease insupply and equilibrium
price remains constant, then what
about equilibrium quantity?

{a) Increases

(5} Decreases

{e} Remains Constang
(d) None of the above

[CA CPT May 2019]

95. If supply decreases ang
remains constant, then eqy;
price will be? i
fa) Increases
(&) Decreases
{¢) Nochange
{d) Become Negative
96. Assume that in the
good 7 there is a slmu]qam
I.m:reastindtmundamllheq i
supplied. The result will he;
ta) An increase in equilibriym )
and quantity, pﬁ“'
(h) A decrease in equilibrium pe
and quantity, bt
{e] An increase in equilibrium qQua.
ntity and uncertain effec oi.
equilibrium price
() A decrease in equilibrium price

;lndjnuu-.'lw||au._|u|h|-.|-|"mm A

i
7. An increase in supply

demand remaining the same, hrip,

about.
(@) Anincrease in equilibrium

. g hich of the following
“ -mtoﬂ“mhﬂmmm

I rium quantity?

<o will increase; quantity can- 1

@ nmb.edelermim:d.

! ill decrease; quantity can.
L ::f;:dn:lermined. :

Quantity will increase; price can.  will

L ot be determined, i

o guantitywill decrease; pricecan. g :
@ Euulnbc determined. %M.
1m.'|ll'hld‘0f1h= following maylead
¢

in demand and&upply? d)

{a) Income and population

() Tastes and Preferences

hnology & Prices of Factors |
Production p
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106. Assume that consumers'
incomes and the numberof sellers in
the market fora good both decrease.
Based upon this information, we can
conclude, with certainty, that the
equilibrium:

(a) Price will increase.

thY Price will decrease.,

(e} Quantity will increase,

fd) Quantity will decrease,

107. It is assumed in economic

theory that:

fa} Decision making within the firmis
usually underaken by managers,
bui never by the owners.

(h) The ultimate goal of the firm is
to maximize prolits, regardless
of firm size or tvpe ol husiness
Organization

(e} Asthe firm size increases, sa do
its goals.

(d) the basic decision making unii ol
any firm is ils owners,

108, Suppose that a sole proprietor-
ship is earning total revenues of
T L00,000 and is incurring explicit
costs of T 75,000. If the owner could
work for another company for
¥ 30,000 a year, we would conclude
that:

{a) Thefirm isincurring an economic
loss.

(&) Im,phcﬂ costs are ¥ 25,000,
@?-_PE" total econemic cosis are

PART | - BUSINESS ECONOMICS

CH. 4 : MEANING AN

LT, correct possible out-
et SO oty mad dernund
direction,

fal Right
i hen in the same

(&) Left

{a)

() Downward
(d) No change in Demand Curve:
110, [t‘aiﬂ:nmmiluluu:hest'mt.:«}m,,SE
there is an increase in supply due,
improved technology, then :
{a) Demand Curve will shify o the
right.
(b} Demand Curve will shifi the
Left, .
(e} Supplycurve will shift tothe
() Supply curve will shifi 1o 1]'|ELEH_
111. When the Supply and de
curves shift in the some direg
tion and both demand and Supply
.thu:cquilihriumqua_u
but the change in equi.
librium price is =

(@) Increase, Increases, Uncertain
th) Increase, Increases Increases
(¢) Increase, Increases, decreaseg
(d) None of the above
112. When demand increases and
supply the equilibrium
price but nothing
can be said about the
equilibrium quantity,
la) Decreases, decreases
(&) Decreases, rises
(e} Decreases, remain constant
(d) None of the above

certain
change in

piliprium quantity

dgmnndandsupp]yingm_th I
poth uilibrium price 1o e €Qullibriym

when in e
LY w:g*‘bf,‘.‘ﬂ“ﬁé’.:m_ﬁ and supply |‘f‘.€_‘“‘°"“ﬂﬂ 1 o X 2
o WhED e the equilibrium quan. UM price ang. effect t on equilib-

q’::r:!ncmases but the change in due g 1o ‘Fﬁ[:“ﬁ 3

e 4 i i 3 upply -mﬂ v
| ilibrium price is uncertain demand Temaing P, with
eq:ile“ demand decreases and the same.

{ex) meqllﬂil;r{um S
! bl -reases, the equilibrium I pric "‘wﬂﬁl‘fﬂﬁ -
[ sﬂ?‘f}l‘;:“:‘mn nothing certain ® :‘;ﬂnﬂt?ﬂemm&.;‘:mmw
Cbl' said about the change in 4 e equilibrium Price. will i
% W Cuantity :wn quantity dg ted wj‘ﬂ_
[Dec. 2021 gaup
e} The equilibrium price i

can be simultaneous % = WL g
B th demand s Supply, ';gﬂwdg- quantity demanded wil}
Wi '

that case, the equilibrium price
In
will be
ol Increased
i1l D¢c1';'u\t'1.|

Changes as per the Proportionate
o change in demand & Supply,

cquilibri

) The equilibrium price will ag

quantity demanded ill o donen

() None ol the above




416

fa) Monopoly

k) Oligopoly

fe) Monopolistic comperition
(d) Perfect competition

[CA CPT Feb. 2007]
120. Which of the following is not

a coalition of perfect competition?
{a) A Ia.t-ge- number of firms
(&) Perfect mobility of factors

{¢) Informative advertising toensure
that consumers have good infor-
mation

(4} Freedom of entry and exitl into
and out of the market

[Jan. 2021]

121. Which of the following is not
a condition of perfect competition?

{a) Alarge number of firms.
(k) Perfect mobility of factors.

{c) Informativeadvertising to ensure
that consumers have good infor-
mation.

{d) Freedom of entry and exit into
and out of the marker.

122, Which is not the characteristic
of perfect competition?

(@) Large number of sellers

(&) Freedom of entry and exit

{c) No supernormal profits in the
long-run

PART I : BUSINESS ECONOMICS

124, A firm, toattain the
position under perfect mmp?uuh"'h
has to satisfy which of the fo]) i
conditions? 4
{a}) MR = MC
(h) MR = MC

(e} MR curve should cut MC
fram below Flung

{d) MC curve should cut MR

cu
from below g |

[.lu]!r zull] |
125. Which of these are '!hn.ran::t%
tics of Perfect Competition,

(@) Many Sellers & Buvers
(&) Homogeneous Product
e} Free Entry and Exit
{d) All of the above
[CA CPT Dec. 2008]
126.1n the market structure, demangd

curve is also known as .......... £

hansany

the
.?:dw‘

fa) Marginal cost curve
{h) Average revenue curve
(e} Total production curve
(d) Marginal utility curve
[Jan. 2021]
127. Price-taking firms, ie.,

Mupemetnaperrecﬂym
tive market, are said to be “sm
relative to the market. hich

CH.4: MEMGMMWW
. gividual firm is unable to.

@ E:;irnafkﬂ price through its
ou

t decisions.
that the demand curve
m,smx;,';‘ Co. slopes downward
he right. We can conclude
that the demand curve for
wpx;#i Co. slopes downward and

ibethﬂ right. We cant conclude
t

L - tes in perfectl
firm opera ¥
(at Iah;i’e'imc market.
firm can sell all that it wasio
b :Pfhe established market price.
The}{‘f:ﬂ Co. isnot aprice takerin
! {he market because it must lower
price 10 sell additional uniis of
oulpuf-
The XYZ Co. will not be maximize
profits hecause price and revenue
are subject 10 change.
[Nov. 2019]
129. Conditions for equilibrium of
,.ﬁrm, are:
@) MR = MC
1) MC should cut MR from below.

¢] MR = AR and MC should con MR

tc

)

a7

@) The firm has some, but not com-
{B) There are so
e

() Each firm s ;

(d) There is easy entry into or exit
from the market place.

132. MR Curve = AR = Demand Curve
is afeature of which kind of Market?
la) Perfect Competition
k) Monopoly
() Monopolistic
(d) Oligopoly
[CA CPT Dec. 2008]

132A. Which of the following is
NOT characteristic of a“Price taker”.

o) TR=PxQ
() AR = Price

{€) MR = Price i
(d)
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€} Monopolisi Competition
) Perfecy Competition

[CA CPT Dec, 2009]
135. A perfect market is character

ized by ;o

@) Existence ofla rze numberol buy-

ers and sellers

5 Homogenous products

el Pertect knowledge of the market

W Al of the above

[CA CPT Dec. 2012]
136. Elasticity of demand under

perfect competition is.
la) One
(k] Two
(e) Zero
[} Infinite
[Nov. 2019]
137. "Zero economic profit’ emerges
due to which of the following con-
dition?
fa} Average revenue is more than
‘average tolal cost
(&) Average revenue is just equal 1o
~average (otal cost
el Marginal revenue is just equal 1o
average total cost
Marginal revenue is just equal to

PART | 1 BUSINESS ECONOMICS

i i|-'|ullipli‘:ilyi:il'rnu'.h:r:sI'm-f,:|,:._|.1l
product at any one timge irﬂl

[CA CPT June zﬂ[‘

139. Agricultural goods mg

depict charncteristics close 1, %

() Perfect competition,
() Oligopoly.
(e} Monopoly,

(e} Monopolistic competition,

140. Which of the following g i

a characteristic of a Cumpeti[i“:

market?

(a) Thereare many buversand sellor,
in the marker

(5] The goods olfered for salee At
largely the same.

{c) Firms generate small bue POsitive
supernormal profits in the Iung
ri,

{d) Firms can [reelv enter or exit e
market,

141. A market structure in which

many firms sell products that are
similar and identical is known as

-

la) Monopolistic competition
(b Monapoly
{e} Perfect competition

CH 41 MEANING AND TYPES 1
mobility of factors of 147,

e 1
;ﬁ;‘)‘ﬁ‘m ion.-
L [CA CFT June 2015}
) hich of the Following
s W structure does a firm
wlﬂ‘dwl over the price of its

e

popol¥
listic Competition
anapc
¥ gopﬂ"l}'
perfect Ccompetition
[CA CPT Dec. 2015]
‘*11!2 elasticity of demand
1 pm.dm:t is infinite under:
-h]-wrfec[ competition
E;} “ongpuﬁ::tic competition
{c) Monopoly
) Oligopoly

() Monopolistic Completi
()] D“gopoly
[CA CPT June 2016]  (d} Perfect Competition,
145, Which of the Fol.lowin:g mar- ca m
o vteetly vom. L4 Whatisincomretal
B i What | 0
Maiket? Competition?
()
& 3

television
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(@l Large. independent

() Large, dcpc'nd:nl
() Small, independent
) small, dependent

) Agriculingeal Proshucts
B Financia) Instrimients

1 Precious Metals
1) Al ol the above
ix 157. In case of perfect Compyy,
52. Which out of these are not a the industry is in equilibriu, k\
Feature of perfect competition? i i wh"
la) Homogenpous {a) Thereisenough dcmnndnrm
() Langenumberofbaverand sellers uets in the marker,
i) There is enough supply dp‘“ﬂi

1) Free entry and exist :
ucts in the market.
{e] Total outpul of 1he Endusu-y R
equal 1o the total demand, 5

td) Total output is less than the%n_
tity demanded. - i

158. Price under perfect m:)mpeqjuq‘
is determined by the -
(@) Firm

(&) Industiy

{c) Government

{d) Society

() Selling cast
[CA CPT Now. 2018]

153, Perfectly Competitive markets
have transactions Costs,
(@) Absolutely no
(] Very Low
tc) High
() Very high
154. Which among the following
market situation is knownasa ‘myth
in the market'?
{a} Duopolv
&) Oligopaly
(c) Discriminating

L. = [Nov. 2019]

[CA CPT June 201
158A. A competition in which m
sellers selling identical products
a large number of buyers.
{a) Monopolistic competition
(b) Oligopoly
fe) Perfect competition

[CA CPT Dec. 2016]
is sald to be in equilib- 166, For ,
fa)

L :
18 Chen ——————
; s maximizing its profits
(a) has no incentive to expand  (b) Marginalre.

(c) Marginal vevenmes

(B} “[.n,dw:liﬂn

P
{ has no incentive 1o contract

{::3 Lmducl ion

o All of the above.
ﬂ_mlatlsthcshape of the demand
1o faced by a firm under perfect 167, Which

competition?

L Hmimnlal
Vertical
Ppositively sloped
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“mm“::““ '
@) Manapoly
(81 Monapolistic Competition
e Ohgopaly
) Perfect Competition
[CA CPT Feb. 2007]
170. t
S :D'Lleﬂ perfect competition a
ta) Price-maker and not price-taker
(b)) Price-taker and not price-maker
Ie) Neither price-maker nor price-
taker
(d) None of the above
171. Under which Market Situation
demand curve is linear and parallel
to X axis:
fa) Perfect Competition
(&) Monopaly
() Monopolistic Competition
i) Oligopoly
[CA CPT Dec. 2008]

() Perfect Competition

174. Perfectly competitive fiyy,
(@) Perfectly elastic demand ¢,
i) Perfectly inelostic dermap
{c) Zero .
(d) Megative

[CA CPT June 3¢,

175. It will be profitable for

to expand output till which

following conditions?

{a) Marginal revenue is graep
Marginal Cost

th) Marginal revenue is less
Marginal Cost

Marginal Revenue

(d) Marginal Revenue is equy

Marginal Cost
[June
176. Which of the following
the characteristic of MR?
(a) When TR is minimum, the

fop

b A

than,
thay

(e} Marginal Cosl is greater ghy

e TCA CET e S
e firm in a perfectly com-
iﬁi m ketisa P‘i“m'ﬂ:ﬁ
wmmm aprhetaherum-
. the assumption that:
'}T'he firm has some but not com- -
@ "plelc control over its product
price. y
" There are so many b""m and
k ) gellersin the market that any one
puyer or seller cannot affect the
arket. i
‘Each firm produces a he
s product.




4.24

PART | BUSINESS FOONOMICS

Iﬁl, “'hi
Hon i,
Mia i

lal ¢ MR
() Mc = MR
€V MR = AR
ld] AC = AR

185. For maximum profit, the con-

dition is:

la) AR = AC
ih MR = MC
icl MR = AR
(d) MC=AR

[CA CPT Now. 2006]

186. Condition for producer equi-
librium is:
fa) TR = TVC
() MC = MR
fc} TC = TAC
()l None of these
[CA CPT June 2008)

187. In market, the price and output
equilibrium is determined on the
basis of:

{a) Total revenue and 1otal cost
(&) Total cost and marginal cost

fe) Margma.' revenue and nlﬂl'gillﬂ]
COst

{d) Only marginal cost
[CA CPT June 2012]

’&E’E'MWHMM
ket the demand curve of a firm is:-

‘ ﬁ' i

—

n ch is the First order condi- 189, The firm will attain l:'lillllil».ﬂ
the profit of a firm to be ligy,

at a point where MC cyp,
—— from below, b

{a) AR curve
(k) MR curve
{) AC curve
(@l AVC curve
[CA CPT June 2“'-‘;

190, If in a short run perfect ¢
tition earn super normal profiy g, ™
which condition satisfy. n

{a) ATC> MC
(B) ATC< MC
{c} MR < AR
{d) MR= AR
[Naov, 201y9)
191. Which is the first order cong;,
tion for the firm to maximize the
profit.
(a) AC=MR
i) AC = AR
ic) MC=MR
(d) MR =AR
[CA CPT Dec. 2014

192. Average revenue curve is alsp
known as:

{a) Profit Curve

() Demand Curve

{c) Average Cost Curve
(d) Indifference Curve

[CA CPT Dec, 2016]

firm: o ol

(a) MR - MC

S
&

T4 MEANING ARD Typpg
¥ ManxgTy
Ve culs MR curve From 197

a3

_ conditiong “':l":: following
ayand (e} of e % 1988 rus
{CA CPT May 2018] mw under

mﬂc““g_ls_irm‘“lh' W ;‘:qtmc.u.m-m.
{b!m,m
- AR

':"JMR‘LM‘.'::A[:LA;
Ed}m=m-m}w
198. In & perg

Tndustry ectly Competitive
depicty” ¢ MC Curve of 2 firm

cﬁl.!
@ Miow

i
plh

194 of ——
Ll

) MonopY »
iir Aect Compelition
(L :?‘peﬂccl Competition
el Manow|.i5[ic Competition
i [CA CPT May 2019]
¢ short run, a firm oper
a__— amount of
ates Wa:lﬂ must choose the level of
oﬂl’m] ____soasto

lu-a-r‘”__

(gs. In th

i ;:.jxed.\"""iabk’ npuls, maximize
E, yariable, fixed inputs, minimize
Ie) Fixed, Fixed inputs, maximize
i) yaluable, Variable inputs, mini-

mize.
196, At the equilibrium position of
o firm Under perfect Competition,

___.—-—'_._._ 5 ]
a) The Marginal revenue is equal to
~ the marginal Cost.
(b} The MC Curve cuts MR Curve
from below.
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el 5I||\'| normal profis @ T 5 Per
Ulniit

) Super Normal prodits o 45 Per

Uring

rz‘n:. Fl'k:r elasticity of demand by a
rm facing perfect competition is

lal Larpe
B Very small
| Small

L) Infinine

PART | HUSINIESS BCONOMICS

fal AR'= MR
(k) AR < MR
() AR = MR
() None ol the above

207. When —
(-1l cwe know that the H;.;"w
earning just normal profits,
{z] AC = AR

(b] MC = MR

[ 2021] {e) MC = AC
B #) AR = MR
203. When AR =¥ 10and AC=T8

the firm makes - 208. When

ta) Normal profit

b} Net profi

¢} Gross profit
(@} Super normal profie

a firm should -
(@} Increase its production
{(6) Decrease its production
) Decrease its sales
{d) Increase its sales
[CA CPT Dec. 2013]

205.Ina competitive mar

ket, if MR is greater than MC, then
a firm should:

ﬁ!ﬂ Increase its production
(B) Decrease its production

(c) Average fixed cost equals price
at the profit-maximizing level of
output. ]

{d) Marginal cost equals price at

profit-maximizing level of outp

*an,

[CA CPT My, 20,

-

. we know that ﬁ';_ﬁ"‘

must be producing at the Minjpy,
point of the average cost curye

sothere “ﬂl'bepmduclivecm.;.ienq
{a) AC = AR i

[CA CPT May 2007] (&) MC = AC
204. In a perfectly competitive mar () MC = MR
ket, if MR is greater than MC, then (@) AR = MR

209. A firm encountersiis “shutdowy
point” when:

{a) Average total cost equals Prige

at the profit-maximizing level of
outpur,

(b} Averagevariable costequals price

al the profil-maximizing level of
oulput,

4

13, If under perfect competition,

4

o so that the right goods 21y, “n
p‘!fnll':l;;mmqhe right peaple 5y M‘,::"Hh' = the
L3 4 =
1 price {
e P o) 10 suffering o bous
, MC = ) Fixed
o o< (&) Var P
W e = AR () o s e veveren
‘:': AR = i Tose o M&lmwm
{ will close down in the [CA CPT June
1. A its AR is less than ; 2164 )
2 period: iFits B Mum'%'hw
AC { e =
! @) Marginl
e ot the
LRt
il

. of the above
W NPT A CPT June 2014

A competitive firm in the shor
2 z.mcur losses. The firm continues
R potion, if:

) P = AVC
i P = AV
() P< AVC
d) P> = AVC
[CA CPT Now. 2006]

post curve, the firm would:

(¢} Make only Normal profits

CH 4 MEANING AN 1y
mﬂﬂm

the price line lies below the average but

tb) Mragtﬁmdcmm“"m

a.tthgp‘-“i'(’na e
Gulpug, ; 2 level of

el mmnﬁaﬂlmmh

Price at the profit main
level of aurpur. i

{d) ."L\‘ﬂmge':ou}mmlh

at the profip imizi
pbei maximizing level of
ICA CPT Dec. 2011]
ZIT-II'.II I'—I!l" n G

st
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fe) P < ave
) Pz ave

’ [CA CPT May 2018]

19 In perfect Competition, il a
firm is unable 1o meel its average
variable Cost, it will be better for
it 1o shut-down, This shut-down

tal Is permancnt

ib) Is lemporar

el May be temporary as the firm
resurnes production when the
market price rises
ld} None of the above
220. The Firm can be in an equi-
librium position and still makes
losses. This is the situation where

PART | BUSINESS ECONOMICS

223. Under Markey
tion, firms make normal pm"q“q.
the long run: ) Iy
(@l Perfect competition
i) Monopaoly
(e} Ohgopoly
() Kone
[CA CPT Now, 2
224, What are the conditions
long run equilibrium of the ¢,
tive firm?
(a) LMC = LAC=P
(B) SMC = SAC = LMC
(¢) R=MR
() All of these
[CA CPT Aug, 2007)

005
l"m-u'
Mpey,

225. In the long run, which of 4
following statement is true fora
in a perfectly competitive i“dl-lsl.rp

la) AR = AC
(k) AR > AC
fc) AR < AC
(d) Either (5) or ic)

221. Under perfect competition, in
the long run, there will be no

-

(a) Normal profits

(&) Super normal profits
{e) Production

) Rt : "

(a) Itoperatesat its minimum average
Ccost

(&) Thepriceis morethan the average
fixed cost

{e) The marginal cost is greater than
marginal revenue

total variable cost

226. “I am making a loss, but

thum‘l.’hawtnmy.lcan'l af]

;"n-'_ﬂmtdnwnatthlspolutuf m
this entreprene:

(d) The fixed cost is lower than the

[CA CPT Dec, 2014]

cH o4 m'm:mumm : e
_sinee plant closing 1y
;:p:__wtiuﬂﬁ o eliminate losses,

11#'”':“]. since lixed costs gre
) lel:“md if @ firm shut dewn,

i [CA CPT Dec. 2015)

run cqtl"lhl'll-lﬂi undue

onk pletion isfare satisfied

eom

) Normal profi
b} Super normal profit
[¢) Losses
0 constant Returns
; [CA CPT Nov. 2018]
A long run Competitive equi-
prium of a perfectly competitive
v occurs when:
-ﬁl] Firms in the
equilibrium.
rm has an incentive either
er or exit the industry.

and

economies of c

ITHOTE: ¢

m,;‘?;i‘m

a

@

(

industry are in 933 Which of
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235 A market struciure where there
is only a single buyer and a single

seller is called

al Duopaly

1] Monopsony,

] Bilateral monapaly

) (||”_:.\n-.”.|_1

[Dec. 2021]
236. Under which of the following
forms of market structure does a
firm has a very considerable control

over the price of its product?
lal \.iurm[ml\
18} Monopolistic Competition
) Oligopaly
i} Perfect Competition
[CA CPT Dec, 2013]

237. Under monopoly market con-
ditions MR is _ _than
the AR.

(@l Less
(&) Greater
{e) Equal
i) Variable
[June 2022]

238. The distinction between a
single firm and an Industry vanishes
in which of the following market
conditions?

{a) Perfect mﬂ]pe[jﬂgn
{B) Imperfect Competition
(e} Pure Competitian

(d) Monopoly
CPT June 2014]

PART | BUSINESS LOONOMITS

() Rising
(ed All of these

240. Which of the followy, 1%
distinguishing chnracu.rhu

oligopolies? 4
ta) A standardized prodyg,

By The goal of proli AN Mgy
fr) The |r1|1.'|'d|‘pc-||dcn._-v

alnr
hHrms ny

d) Downward-sloping

curves faced by firms, ang

241. In a monopoly Marke
producer has control only over.
(@) Price of the comimodity
(#) Demand of the commodipy,
() Both {a) and (5)
id}) Utility of the product

[CA CPT June 2015)

242, Which is not charat:tE:'lsﬁ: af
monopaly?

(a) The firm is price-taker
(8) There is a single firm

{e) The firm produces a Unigug
product

(e} 'l'hr:cxislem'eofsumeadven:isi
[CA CPT Dec. 201
243. Monopolyis undesirable duet

{a) Tthasprices higher than com
tive firms

(b) Itproduces less output thane
petitive firms
'ch It discriminates on prices

i 4 ""m“‘mw

5 Monopolist 18

"" Pr'tr—f““ker

! Fl‘"‘r'mkrr

1 ce-adjuster

e ﬁam“:‘“h“' above

() nder monopoly, the degree of

"";-rnl over I'-"‘lu is:

-

) Some

Very 0

{3 st af the above

(" e demand curve of the firm

:‘:'mdllﬂ"y will be same in which

wrm Bfmaﬂ““:

fo ) ponopolistic competition

a =

rlm perfect completion

i) Monopoly

) Oligopoly

4
fe
u:“'-my -

250 Momoply . e, ™ 2022}

(a) There
Mnu h'“"""hdnu

€} Both a) g gy
(d} Neither 1
251,1ng
are market, there
O Ng ey
(b) Negligible
(c) Lighy

nsiderable I nar by

[CA CPT May 2018]
247. Market form in which there is
only one buver and one seller is:
{a) Oligopoly
{b} Duopoly
{¢) Bilateral Monopoly
{d) Monopsony
[CA CPT May 2018]
. Which market is havingasingle
ud single Buyer?
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I

4.32

{c) OIigopol}n
() Perfect competition

255. Suppose that the demand curve
for the Xvz Co. slopes downward
a}:ld to the right, We can conclude
thap

ta) The firm Operates in a perfecily
Competitive market

(&) The birm can seli all that it wants
toat the established market price:

() TheXYZCo. isnota price-takerin
the market because it must Jower
price to sell additional units of
ourput,

{d) The XYZ Co. will nor be able 1o
maximize profits because price
and revenue are subject to change,

256. The demand curve of a mono-
poly firm willbe
ta) Upward sloping
i) Downward slaping
(e} Horizontal
(d) Vertical
257. What is the shape of monopolist
Average Revenue Curve?
(e} Falls from left 1o right
(&) Is paralle] 10 X-axis
{c) Is parallel to Yaxis
{d) Rise from left to right
[CA CPT Nox. 2018]
258. The MR curve cuts the horizon-
tal line between Y-axis and demand
curve into;
(a) Two unequal parts
h) Two equal parts

ﬁ‘ﬂmyheequnlanmequdm

(@) None of these

[CA CPT Feb. 2008)

PART | . BUSINESS ECONOMICS

259. The demand curve of the

{a) Monopolistic Competitig,
(&) Perlect Competition
(c) Monopoly
() Oligopaly
[CA CPT Jup,
260. Natural Monopoly ariseg

(@) There is enormous Eﬂl‘rd\,.,i“
enjoved by a firm

(b} There are stringen lega) ang
regulatory requirement.

(e} There are very large E'-“““l‘ni.gg
of Scale

{d) There are Business Cc;mhim
tions and Cartels

261. When elasticity of demang s
Equal to one in monopoly, Margiy,
Revenue will be :

{a) Equal to one

(B) Greater than one

fe) Less than one

() Zero

[CA CPT Dec. 201¢)

262, Ifa firm under monopoly wangg
o sell more, its average revenge
curve will be o _ line.

{a}) Horizantal

(5) Vertical

{e) Downward sloping

(d) Upward sloping

(&) The change in quantity di
by the change in price.

o

CH. 4: Mmﬂmm%_ -

inP = Qduetoaone

& in outpul.
hange 1N
n:butonwiﬂhe firmisaprice

il pri cher.
f P;il::e is less than average
wheP Bt the profit-maximiy,
ﬂ;-‘o“rpul. a firm should.
o
-e where marginal revena
i"“dl.t"mmginal costifitis opery;.
) jn-lJl? short run.
uce where marginal revenye
0 als marginalcostifitis operg;.
: is the ]ong .
mgmhm n. since it will loge noth-
L8

¥
il

[d :’1'; in that case.
) 5
[ aver 15

jn business.

price P1, the firmin the figure

::'1:‘?""""“

Ill-

Fos MRy o AR, 2 0,
", = AR Loy
Fam b0 ARy 2 Dy
— By = W, AR 0

hu!d'-“"“' since 1l cannor even
ver its variable costs il iy stays

©) Both ey
@) Nope 0%

267, B
When the ot the

{a) MC«: MR

b} Mme )
bel::mm““"““%&um

(e} Botk (@) ang (b)
(@) Nopa of the ahoye

al cogp ig equal 1g

Marging| revenye

269, Forg
condition for

la) P-me

{b] P= MRI,&R
le) MR = mc

() None

270. A mop
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(c) MR can be ZE10 Or even negative

() All of the above

[CA CPT June 2013)
Supernormal profits occur,

272,
when:

(@) Total revenue is equal to total cost
&) Total revenie is equal to variable

COsT

{e) Average revenue is more than

average cosg

(a) The firm shoulg

ok sy
order to minimjze i

&) The firm should Faise ]-.:""
enough to cover jig losse,

{e) The firm shaulg Mgy,
FESOUTEEs Lo another ind:_, e _l:*

td) The firm shauld contjy,
operate in the shory run ].n"!: I
to minimize its lossps, )

(d) Average revenue is equal to aver- 277 If the average cogy is

Age cost

[CA CPT Now. 2007)
273. 7 monopolist has to deter

mine

(e} His outpu;

() The Price of his Product
1) Total marker demand
(d) Both {a) & (b)

274. A Monopalist faces e

sloping demand Curve,
(@) Upward

(&) Downward

{e) Horizontal 1o X-axis
i) Horizontal to Yaxis

than the average reveny, [],:?;:’

firm incurs
fa) Normal profit
(6) Abnormal profi
[c) Loss

{d) No profit, no loss

278. Price discrimination will
profitable only if the rlast]q:it_‘. of
demand in different sub—mau-ﬁ,uh

fa) Uniform
{8) Different
¢] Less

(d) Zero

279. Price discrimination refers o
harging — Prices

the practices of ¢
for unitsof the
ity,

la) Differen, different, same
b)) Same, different, same
le} Same, same, same

(@) Different, same, same

_ [Dec.

d degree of price discrim;.

pation: of price discrimina.
i

on:
i Nore —  __the
E will fix a price which
"P"Eﬁtii“y the entire consum.
ol B s,
o sur® nd degree of price diserim;.

af the above,

| First degree of price diseriming.
o *
Third degree ol price discriming.
X il [t (STHTY
L None of the above
' Price discrimination is relaeq
X o

Time

of the purchase
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demand in different markets is
@) Uniform

(B) Differen:

) Less

{d) Zern

[CA CPT Dec. 2015]

291. A discriminating monopolist to
reach equilibrium position, his deci-
sion on total output depends upon.
ta) How much total output should be
produce?

(5) How the total output should be
distributed between the twa sub-
myarket?

el Both (a) and (&)
{d) None

{a} Perfect competition

(&} Monopoly

) Monopolistic €OMmPpetitioy

id) Oligopoly

[une 5,

295.The price discriminatjo,
monopoly will he possible
which of the following condy;

ta) The seller has no contra Ove i
supply of his produc, Tihe
e cong,

{5) The market has the 53
tion all over

{c] The price elasticity of de ¥
different in different 'T‘HJtEl(. 4 ]

(d) The price elasticity of de

Mang,
uniform 3

ICA CPT Dec, Mlm

296, Monopolist can fix him pﬂ“‘

e erent markets are kept
pil
cance between the consumer
b Di (e market is more.
jcity of demand in differen
(3 ﬂi:u is different,
The cONSUMETS AT segregated an
W {he basis ol their purpose of use
of the commaodity.
[CA CPT Dec. 2016)

ch amongst the following
;wn;:.v:’ohjuctivr of price discrimi.
?

w To hold the extra stocks

[CA CPT May 2019 goods whose elasticity is

292. Price discrimination is possible
only in __ i

() Toearn maximum profits
(¢} To enjoy economies of scale
(@) Tosecure equity through pricing
ICA CPT June 2017) ()
In the long run monopolist
Incur losses
earn super normal p
toshutdown

——
fa) Less than |

(&) More than |
(e} Elastic

1] Inelastic

ftal Monopaly
{6} Perfect Competition
{c) Oligapoly [CA CPT June 203
(d} Monopalistic Competition 297. “Price Discrimination®
[CA CPT May 2019] be best exercised by the
zas.muwrton;wmbe 0 mim;oh
is __indifferent markets,  (6) Monopoly
(a) Uniform
(b) Different

[
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@) Large number of firms in the
I!ldLu.!'jl_

) Outputs of the firms are perfect
substitnes for one another
e Firms face downward-sloping
demand curves,
{d} Resources are verv mohile:
309. Firms in a monopolistic market
are price _————
la) Takers
&) Givers
fe} Makers
{d} Acceptors
[CA CPT Aug. 2007]

310, Under Monopolistic competi-
tion the cross elasticity of demand

PART 1 ; BUSINESS ECONOMICS

313, Extreme Product dify,
tion is found in which marke;

{a) Monopolistic Competiijg,
(H1 Monopaly
{¢] Perlect Competition
(e Oligopoly
[Nox. 201
114, Which of the fol]uwing
example of monopolistic Compey;
tion?
{a} De Beers and Diamond
{h) Hotels and pub
e} Microsoft and Window
{d) Dell and Lenovo
[July 202y

for the product of a single firm 335 Manopolistic competijy,
would be: differs from perfect cOmpetitjg,

.4-Mmimmw .

la) Under o

et differentiation

eous privducts

ameEe !
H o wars

[CA CPT June 2010]

p paste industry is an

18 e pf _————

3
""ﬂ::nopﬂl.‘"

@ % nopolistic competition
! ;
[PI ()llE'-’P"ﬂ'" o
b Pcrlt‘f' compeiiinon
idl [CA CPT Dec. 2010}
msmu:ture of the toothpaste
154 v in India is best described as
) ?E;‘rr.'-'."ll_\. competitive. .
:J ylonopalistic
: Mgnqmlisliu.u]l\ competitive.

ﬂﬂl:' D]'igﬁl'luu-"“"'

@ Monapolis ;
i€ Competition
M“"Upoly e

{a) Infinite primarily because
{#) Highh' elastic
(c) Highly inclastic
{d) Zero

w_mﬂwa_\-schnrgescomm"‘,d!
: fares from senior citizens,
is an example of
a} Market analysis
1] profit discrimination
f¢) Price discrimination
(@) Demand forccasting

fa) In monopolistic Lompetitiog
firms can dilferentiate lilel;
products,

() In perfect competition lirms cap
differentiate their products,

[CA CPT May 2007]
311. Which of the following is not
a characteristic of monopolistic
competition?
ta) Ease of entry into the industry
(&) Product differentiation
e} A relatively large number of
sellers
() A homogeneous product
312. In the long run Monopolistic
comp. and perfect comp. are same
because of

fe] In monopolistic competition
entryvinto the industry is blocked

{d} In monopolistic competition,
there are relatively few barriar
1o entry,
316. Which market have character.
istic of product differentiation?
{a) Perlect Competition
(%) Monapoly

{e} Monopolistic Competition

[Now. 2020]
h of the following is a cor
& Dt?
15 have 1o incur a
is on adve nisingiﬁd ael
Promotion measures
market. )
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PARTI: B
{a) Product djsm'mfnalioh
(b] Perfect competition
{¢) Price discrimination
{d) Price taker

326. Sellin tial

g outlay is an esscn
paﬂnfwhichuﬁke’f;mm"m
situations?

la) Perfect Competition:
(b} Monopaly
£} Monopolistic Competition
ld) Pure Competition
[CA CPT June 20

327, Which of the following is not a
characteristic of a monopolistically
competitive market?

3

330. Which market has tp,

14] of ‘group’ equilibrium in the
{a) Oligopoly

(1.2 Monopoly

{¢) Monopalistic C"“'I”‘-‘ril[un
{d) Perfect competition

[CA CPT Dec
331. The long run equiliy, |
outcomes in monopolistje . ™
etition and perfect """-"DelitIE:"
similar, because in hotk in

m
structures: ll'h

{a) The efficient autput Jeye| will
produced on the long mp b

la) Free entry and exit

(5) Abnormal profits in the long run
(e} Many sellers
() Ditferentiated products

327A. Downward sloping and
comparatively more elastic demand
curve is found in:

{a) Perfect competition

&) Monopoly g
(&) Monopol (h) Firms will be produg INE a1 mig

() MU"‘-_‘F'UJL""‘:‘-“'"P'—'“”D“ MU average cost

() Duopoly
328. Which of the following state-
menis is correci?
{a) Price rigidity is an important
feature of manopaly
(&) Selling costs are possible under
perfect competition
(¢} Underperfect competition factors
of production do not move freely
as there are legal restrictions
(d) An industry consists of
firms

{¢) Firms realize all CConomies g

scale
{d) Firmswill only earm normal preg

| Jan. 20

332. In monopolistic comp
excess capacity in the firm

(@) Always exisis
(b) Sometimes exists
{c) Never exists
(d) None of the above
[m CPT De
{ as a cheaper rate for power of ‘group’ equilibrium in

3

Sy

CH. 4 MEANING AND Typps o

istic competition
) M ject competition.
(! juct differentiation is the
g ) oligopol¥ :
) Mono-pul'i.shc
b pi ceriminating Monopaly
(e perfect Competition
Gl [CA CPT Nov, 2018]

what is the characteristic of
L polistic Competition?

rce elasticity is low for the

l"‘r] 4 duct concerned

e
B Large number of sellers
:ﬂ No degree ol control over price

i) one huver
[CA CPT May 2019]

336, Price varies by attributes such as
jocation or by Customer segment is
degree of Price Discrimination,

{a) First
Eb] Sccnrl.d
(e} Third
(d) Fourth

1337. Monopolistic Competitive firms

"

{a) Are small in size

339, Which .
ments is ingor i 'h!f“n“'hlz.m

(a) E -
I‘:;;:mﬂmpoku:ﬁlmmm

1) Firms in a perfectly competiive
3 are price takers
€) 1t is always beneficial for
A firm
ina perfecily competitive market
to discriminate prices
(dy “Wﬂtmmmhmﬁ@
1o an oligopolistic market
340. Which of the following
ments is incorrect? g
fa) {nder monapoly there is no dif
erence between a firm and an
ind 1 and

(b) A monopolist may
output and raise the price
(¢} Commodities ;




4.42 PART | - B

(a) Oligopaly
(B nr!l'ln(rr_"_.h’
¥l Monopolistic competition
tel) Duopoly
[CA CPT Dec. 20111
343. Degree of control over price is
very considerable in case of v
fa) Perfect competition
h) Manopaly
e} Oligopal
{d') Monopolistic competition
[Dec. 2021]
344, Comparing a Monopaoly and
Competitive firm the Monopaolist
will:
ta) Produce less and sell ar a lower
price
(F) Produce more and sell ata lower
price
{e) Produce fess and sell ar a higher
price
fef) Produce wero and sell at a lower
price

[CA CPT June 2016]

345. There is absoluiely no consumer
exploitationin case of

fa) Perfect Competition
(&) Monopoly
{£) Monopaolistic Competitions
) All of the above
346. When the industry is domi-

USINESS ECONOMICS

{a) Perfect Competition
(&) Monopoly

{c} Manopolistic {.“mm‘qun
() All of the above

348, "Competition among
described in

ta) Manopoly

(k) Monopsony

{c)] Oligopoly

() I'qupu]-.

Teys .
W“|

lN!’I\., Zmﬂ
349 In w':i‘t:h of the I'n]lc.n..,-i..lg “hl
of competition, Supernormal .,
can be earned both in shorg mm
long run?
(i) Perfect Competition
(b} Monopols
{c) Monopohsic Ce
te) All of the abo
349A. Which of the [..“u“inl

statements is correct ?

(T Pty
teature of monopaoly

B Selling cosis are possible undgy
perfect condition

(e} Under perfect competition fm
of production do not mare legal
restnchions

(d) An industry consists of many
firms ]

nated by one large firm, it is a type Oligopoly

EET T

{a) Full oligopaly
() Syndicated oligapoly
(c) Organized oligopoly
[Dec. 2021]

350. Oligopolistic industries
characterized by :

fa) A few dominamt firms

stantial barriers 1o entry.

CH. 4: MEANING AND TypEg
D"».H-Mllcu_-m:

numhcrnisma'll.firmsm
barTiers.
ant firmand low entry

Jarge
¥ :B ently
a.-.edumin
W hm—ritrs.
. [an. 2021
theory of oligopoly is alsg
jled @ heory el
ndiv idual behaviour
{al
Tl Mass
; Group hehaviour
4 pynamis behaviour
crmsin the toothpaste indus-
35l ethe following market sh ;
N;: market structure would hes
::icﬁbc the induﬂlr}-?

pehav four

——— Ghare
Marke! =15
Moothpaste
pentipas!<
b

Taant believe 11>
pothpasic
mtllml wihit
'm'tl‘ll“
R

u) Perfect co

b} Monopolistic competition
{¢) Dligopoly

{d) Monapoly

[Feoimaien]

nily of
1) thqhapﬁ“-" _ﬂfwrﬂm

354. Srnart IDec. 2021)
em‘[ﬂen{ Ph’ml!l market jg =

la) Perfectt:emmitlun i
B) Monopoly
£} Mnmp-ullis'li:
competity
[} Oligapaly b
[Nov. 2020
a55, Non-price competition are

observed i
market 7 e type of following

ta) Monopoly

(k) Monopolistic competition
) Duapoly

() Qﬁgi}pn[y

t which have two firms




444

3574,
2150 known as =
la) Samuelson’s
&) Chamberlin% mode!
{e) Stigler model
() Sweesvs madel
358, OPEC is an example of ©
(2) Monopalistic competition
8] Manapoly
e} Oligapoly
fef] Duopoly
[CA CPT Dec. 2008]
359, Aluminium indusiry is the
example of which type of oligopoly
fa) Full oligopoly
(41 Open oligopoly
(o] Pure aolipopoly
(e} Syndicated oligapoly
[Nov. 2020)
t.]ﬁ-ﬂ. Price rigidity concept is related
i
fa) Duopaly
(&) Monopaly
{e} Oligopoly

A Kinked Demand Curve is

PART - BUSINESS ECONOMICS

ta) Perfectly competitive,

{B) Monopolistic,

te) Monopolistically COmpey.
{d) Oligopolistic, g

s ked dema

iiiie:‘::l?ed to e:pl:;. ':ﬂ“' ar
oligopolistic market
() Collusion between firy,
{b) Price and output determ;
{e) Rigidity of price

(e} Price leadership

niuﬁ

[Ny,
364. Pure oligopoly DCCupy q
@) The product is I"’“""E“nmu,
(&) The product is dlllulunli;",ed
{€) The indusiry is dominag od
Large firim i
(@) The ahsence ol Prce leag |

[June l:-

365. "Let and live phllnmphr
cern from which markeg .

(@) Perfect competition

th) Monopaly

e} Oligopoly

{d) Monopolistic Competition

‘ rigidityisa
S‘L.vil:id:‘: of the following
?

[July 2021
almumfmmq
marke

in

1;5‘ M,_,nopoli;stic competition

() Oligopoly

3

3694, When an oligopolistic firm
chooses its level of production
maximize its profits then i

; perfect competition
) Monopoly

[CA CPT June 2010]

49, Oligopoly having identicy)
ucts is known as =

() Pure oligopoly

() Collusive oligapoly

te) Independent oligopoly

() None of these

[CA CPT June 2011)

to
price that is:

More than the price
~ eithermonopoly ora

charges

la)
by

(€} An oligopoly
td} Perfec
372 When
byonelar

ly CoOmpeti

thein

(] Monopolistic competition
[Tune 2022]
361. One characteristic not
of oligopolistic industry js;
{a) Horizontal demand cume
() Too much importance 1o non-

) Price leadership

[Now.
366. Oligopoly having ide
ucts is: I

{a) Pure D]igﬂm]\'
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375,

is doyy

j’_“-'ﬂﬂsi:iemd
€h it is called:

ez} Fuil ”“Kfmrlh

(B Collusiye oligapoly

€} Partial oligopaly

d) Syndicaied aligopoly

376, When the industryis dominated 391 OPEC is an example of -

by one large firm 1t is called
ta) Full oligapal
) Partial oligopoly
e} Organized oligopoly
tel) Closed aligapoly
[Nov. 2020]

377. When the products are sold
lhmlrghac;—nlral[zcdbm!hcﬂignwi}'
is known as:

la) Organized oligopaly
(#) Partial oligopols
fe) ("nmpc'iirn:-nhpnpmh'
(d) Syndicared aligopaly
I3':".8. The demand curve of oligopoly
EH
(e} Horizontal
(&) Venical
{c) Kinked
() Rising left 10 right
[CA CPT Dec. 2008]
31:;; When ‘:;w firms of the
mar cometoa
poly common

ding or act in collusion
witheach other either in fixing price
or output or both, then it is called

PART | - BUSINESS ECONDMICE

I oligopoly, when the industry
Nated h}'mgfm‘-ﬂnnwhfch
as leader of the group,

. When the indusiry is o
;:“D!l!lnrgEﬂﬂn“'hll:hhc mﬂ%

or looked upon as Ihl_! k&dg.—ﬂ'l
group, the oligopoly is reaame,,':

{a) Competitive oligopoly
(k) Syndicated oligopoly
i) Collusive oligopoly
(ef) Partial oligopoly

tal Manopolistiic competitiog

() Monopoly

{c} Dligopoly

(al} Duopaly
382. Which of the following is Not 4
feature of oligopoly marker?
lur) Interdependence of the fi

decision making

ms.in

(&) Price rigidity
i) Group behaviour
() Existence of larpe number of
firms

[€A CPT Dec. 2012
383, _Istha!silual{unin
whicha firm bases its market policy,
in part on the expected behaviourof
a few close rivals,
la) Oligopoly
&) Monopolistic Competition
el Monopoly
{d) Perfect Competition

[CA CPT Dec. 2015]

384. When an oligopolist individu-

cither monapoly ora competiive.
marker.

{a)} More than the

! L':;;r manope
11

i
o o

i 'Il::nT‘"rﬂh o
¥

155 [jrd'u?‘ belongs —

- m._-nllg

CH. 4 MEANING AND T‘c'PEsopMmm
4.47
he price charged by  3gg. Which
- ehan the 12 OF 3COMPENILVE  not he 1ea1-::u';'0lhe Following 14
la) I“krdtnendenq,-
() Scﬂin.g Civsj
e} Free Bnyry,
(el D“""m‘“bﬂwﬂmmrpheha 1
[CA CPT Ny, 2018)
theory of oligopoly 15 o

mrkc;an the price charged by g
) pore ! v and less than the price

monoPs by o competitive marker,

cha ” n-|h.~ price charged by 5
os the il more than lhg-pﬁ‘_-‘:
acompetitive markeq,

rzed 1

s ehaviour from which 1

i) Group Behavigyr

(h) Mags Beha\rim.lr

(e} Individyg) Behawioyr
d) Single Behaviguy

| Competition

rlew o
g Pe listic Competition

§ Monope oy

|‘h pligopol®
o

[ Now. 2019)

opoly is based on the Tollowing

A5 regards
Small tumber

prudl.l.tln:

la} il,isdnminat::dhya
of large firms,

b} Thete is imporiance of adver-
lising & selling cosy.

{e) Theoligopolyis ing it
s IBOROly s intendependentin :

ision-mak

fﬁrlt_u entiated
|L:] Homogeneos
tcl pnrelated

None o the above
f [Jan. 2021}

What isfare feature(s) of

bawnward sloping demand 392
curve
| Bath (a) and (b) are correct
[CA CPT May 2018]
of these is the best
oligopoly? '




4.48

el Circular
) Vertical
[CA CPT June 2014]

394, An oligopolistic fArm has to
behave strategically when it makes
8 aboutis___ .

let) Degision, Price
(&) Price, Output
fc) Policy. Marerzal
() None of these
395, Entering into collusion or form.

PART [ BUSINESS ECONOMICS

(@} Low Cost Firm

{&#) Low Share Firm

(e} High Cost Firm

{d) Dominating Profig Firpy

99, In the context of alj
the kinked demand hypg hngj)i
designed to explain I.h,.;. s

la) Price and outpuy dcru-pminaunn
) Price rigidity
{c) Price ||.‘.lq|<_'i|':|h|p

{d) Collusion Among riva|s

ing a cartel is generally considered 400. The elasticity nf'delnand

(e} Legal
(f) Hiegal
{cl Desirable
fd) Mandatory

396. A group of firm that expliciily
agree (collude) to coordinaie their
activities is called ajan ;

fa} Oligopsony
(&) Duapaly
fe) Monopsony
(d} Cariel
[July 2021)
397. According io Pigou, firsi

degree price discrimination charges
price to;

ta) Individugal capacity
(&} Quantities sold
{e) Location
(d) None of the above
{CA CPT Nov, 201 8]

398. In case of the price 402,
leucer s a0l

{al The response

(d}

upper segment of a Kinkeg di thy,
curve will be ; Mg

(e} Inlimite
(&) Equal fo o
o) Greater than ong

(&) Less than one

[une 3

401. The kinked demangd ¢
maodel of oligopoly assumes thy,,

{of ¢ unwmm}h
& price increase is less than y,
response to a price decreage

{B) The response (of COnsUmerg)
4 price increase js more thag
Fesponse (o a price decrease,

(€) The elasticity of demand is oo

stant regardless of whethern
increases or decreases,

The elasticity of demand is
fectly elastic if price i
and perfectly inelastic if
decreases,

Collusion is impossible

I Sels : 1such aman. industry has;

stothe

fa) Only few number of firms

(b) Only two firms

CH. 4 MEANING AND Ty ppyg OF Ml ETS
imited number of firms
e} ]':n!"ﬂf number of firms
@ [Nov. 2020
ked demand curve hypogl,.
Jﬂ‘-"u given by:
: Alfved Marshal
tl;l A.C Figou
(g} SwerLy
@ Hicks & Allen
ICACPT Aug.2007] 00 of the abaye
4. Kzn.kud demand curve 15 ICA CPT Dec. 2009, jan. 2021]
: e !
abserved i = 408, In ollgnpqu, the kink on
i puopely market demang curve is more dutu:i
. S
la) Discnnlinuiw in MR
(b} Distontinuity in AR
le) Fu]h:'lmentuflhnas&umpmnlhm
8 price cut is Followed by others
and a price increqse by a firm s
not followed by atheps,

@) Price war amongst the firms,

®) Equal in one
16} Greater thin ane
) Less than ope
403, "‘";'-‘ed demand hypothesis {s
to e in
Contexy of oligopaly,

{a) Price ang SUpul determination
1h) Price rigidity

€} Callusion between firm

(b Monopoly market
te) Campetitive market
() Oligopoly market
[CA CPT Feb, 2008)
405. The demand curve of “llgﬂfloly

is
{a) Horizontal

() Vertical
e} Kinked
{d) Rising lefi 1o right
[CA CPT Dec, 2009

406. In the kinked demand curve
theory, it is assumed that ...,

{a) Firms collude 1o fix the price
(h) An increase in the price by the
firm is not followed by others
€) An increase in the price by
 firm s followed by others




e PART | - BUSINESS ECONOMICS
{e) 0j;
:;' :Tt‘ﬂeu: COMpetition

P Mopalisyic competition

Opofy {¢) Monopsony -

{d} Monopalistic COMIpe iy,

Ica cpr Dy, 2
CHOpn)y 415. The Kinked "-'L"'lland 1y
[Dec. 2022] model explains ri‘lema.rketm Sl
L P Oligapaly the kink in the b
""-‘l'rlam:i' -

ta) Pure Oligopoly
(&) Differentiated Ofigup,,l_\.
le] Collusive Oligopaly
() Price Rigidity
ICA CpT Juge

416. In the kinked
theory,

curve is more due o

la} Discontinuity in mMa
(&) Dr's.'c:muinuir_\' in AR
fe) F!:infmcnrul'rlwﬂ.-isumpu'on that
@ price fall is followed by ather
and a price increase by a firm is
not fallowed by (he other
tel) Price w

1
demany i

araimong the finns
[CA CPT Dec. 201 1]
412, In the ‘kinked-demand’ curve

model, the upper portion of the
demand curye i

fa) Elasiic

ta) There is a kink in
LOsl Curve

(&) Firms

basis

the In_-"mr"ilj

iry qulrn[-‘-h--.n nies
M-Prig,
L7

el Demand is price elasy,

&) Lislasti () Deémand is Price inelasgj
{e) Perlectly Elastic [Deg, 2021]
(@) Unsa Elastic 417. A firm having kinked de

[CA CPT June 2013) Curve indicates thay :
413, Choose the incorrect statement

() 1f the firm reduces
regarding (he

Y Price,
harurnclr'if price wCompetitive Hrme ol """I'“"fu!
leadership; prce
fa) O.Fd.'!ndvtpurfn-nrcd irmactsas (1) 1 the firm INCreases the
a leader Lompetitive firms gl INCreage
(8) Live and Jo Hivee philosaphy iy the price -
followed (#e) If the firm reduces the
) Pncrdecfdedbm assessing marker competitive firms do not
conditions the price.
(d) Price decideq by leader is gener. (W) 1f the firm increases the
ally accepied by the rest of al] Sompetitive firms do nog
the price,

{a) Only () above
e (@) Both (i) and i) abone.

ke YA

CH 4 MEANING

i e e

S determinatign
(@) P:il ! o rigidity .
I‘_M leadership
Collusion among rivals
[CA CPT June 2015,
ked demand curve jg the
#9- d curve of:
y fect Competition
@
§ ) sMonopoly
b monopolistic Competition
- None of the above
C [CA CPT Dec. 2015

reason for the kinkegd
420. Thtrum is that:

()

y The oligopolisi beljeye thay
- competitors will folloy DUl pyy
increases but not ULPUL Fedue.

tions
Answers ==
7. || 8 || 9 | 9A,
[0 [®)] 14 ETTE
2. | 21. | )] 22, | (@)
22 [(b))| 28. |(a)| 29, [(o)
2 lla)| 35. || 36, [y
b)) 41. )] 42 [ ]
|®) | 47. [(a)] 48,
)| 54. [(a)] s,
1. | ()| 62.
68. | (a)
78,

o i

o

]




(e) | 158.
o) | 164. | () | 165.
o | 171, [ @ | 172.
[ @) 178. | @) | 179. |
() | 184. | b) | 185.

)] 191. | 0) | 192.
. [ (@) [1974.] (@) | 198.
[ @] 204. | (@) H 205,
@ ]211. [ @] 212,
[ [218. [ @) | 219.
[@ ] 225. [ (@) | 226,

)

l=l=l=]

AR

3K

=
=

F
\%Xi\f—\i\

\

3
=

(k)
e}

o
{d)

"

“\\fi\

;\“

&
=1

Hints of selecter

\

1, A market is a coll
actual or potential i
a product of service

Ans. : (a)
5. The elements of ;
(i) Buyers and sel
(i) A product or s
(iii) Bargaining foy
(iv) Knowledge ab
() One price for ;
Ans, : (¢)
26. On the basis of
(@) Loca) Market |
(b) Rationg] Mark

le) Nationg] Mark



CH. 4 : MEANING AND TYPES OF MARKETS

(@) | 360. | (c) | 361. | (a ;
| (a) | 367. | (b) | 368. _T.mw MMM Hw .ww”m.mu. (c) _ 364. | (a)
@373 | @ | 374 | @] 375. | 0 mw.m_.p. (d) | 370. _:_:
: B | 377. | ()
| (0) [ 380. | (d) | 381. | (c) | 382. | (d) | 383. | (a) | 384. | (d)
Q&_ 387. | (d) | 388. | (a) | 389. | (c) | 390. | (a) mmH.. @
)| 394. | (@) | 395. &) | 396. | @ | 397. | @ | 398. | @)
._._.@ 407. | (b) | 408. | (c) | 409. | (d) | 410. | (@) | 411. | ()
[®) | 414. | (@) | 415. | () | 416. | (b) | 417. | (b) | 418. | (B)
nﬁv 421. | (c)

question

cllers with the potential to trade. The

lection of buyers and s
s and sellers determine the price of

interactions of the buyer
¥

, market are:

e

"3

rket conditions and
{ agiven time.

Juct or service

area covered: the markets 47¢ clpssiiel Em&,m .



.-

CHAPTER

_ BUSINESS cycigs

(d) Depression is the
isiness cycle refers to S

downs in production [June 2022)

s, 3. The economy-wide fluctuations

| In production, trade d
glevelsof economic economic activity is re-ia':-:‘I*I-ec?eal:::-raI
a period of time. :

in economic activities
longed period of time.

severe form of

{a) Business Cycle
() Economic cycle
(c) Boom-bust Cycle

nemployment rate (d) All of the above

ing rate of savings.
3 4. Greatest depressioll Suﬁered by
_ [Jan. 2021] economy in which vear.
I etations in () ),
mic activity that an

ences over a period () 1930
; (c) 2008

(d) 2009 [CA CPT May 2018]

5. According to trade cycle
is a purely monetary phenomenon.
(a¢) Schumpeter

statement (h) Nicholas Kaldor

siness cycle? (¢) Keynes

e of depressionis  (d) Hawtrey

terest rate oy

of depressionis 57, According t0 —— (H

erest rate cycle occurs due to
innovations.

[Dec. 2021]




; (d) Depression is th Severe fopm
" _
Pvils Tefers o TeCession o

sin Production

levels of econome

period of time,
nomic aCtiVitieS
period of time,

1ployment rate
rate of savings.

(b) Ecunemjc cycle
(¢) Boom-bust Cycle
(d) All of the aboye

~ 4. Greatest depression suffered by
[Jan. 2021] economy in which year.

(a) 1924

(b) 1930

(c) 2008

@ 2009 [ca M-
iss. aA;f;el}' ngm“'?m '
(a) Schumpeter

(b) Nicholas Kaldor

(c) Keynes




fa) Hawtrey w1932

ik} Adam Smith :

] M Kevnes 8A. anl:n.:ll: e:;lumpl. Of thy

() Schumpeter cyele byfrey }
SB. Trade cycles occur as a result of g economy bubble goyy
*Mmuﬁtdl"s: (a) 1930 - :
a5 19 » o :

{c} 2000 peal Is highest point =
« All of the above
o [Nov. 2019)

{a) Pigou
(k) Schumpeter i) 2097
&1 Hawo 9. Which among the fo]),,.. : ] LI
L a feature of Businesg Cyclegy ™ i when nggmg;l'ea:wnm acti-
: T ing economy, the

(@) Kevnes .
{a) Business Cycles ars g ¥ is said to be in ...

& Which is mot related to great ()

(@) Tt slaw: in USA @) B“ﬂ::zzc-"d}eﬁ have s,

() John Maynard Keynes regarded ey IR
iz:g;fmgﬂw FARDORS £ (¢} Business Cycles ape .
complex Phenomengy

puring the phase of trough of "‘ﬂ

; - Supply
e ki et (d) Business Cycles are oay
:ass cycle, the growth rate (b}

(d) Both (a) and (&) :
CA CPT May 2019] D
f 4 10. The rhythmic fluctug

7. Which of the following is not cor-  ggpregate economic actj ;

rect about the business cycles ? economy experiences over
of time is called .............

fa) Business cveles have distinet
phaseofexpansion, peak, contrac-  (g) Business cvcle
mm ™ - (&) Recession
(e) Contraction phase




o PART I PLUSINESS ECONOMICS

e} Agriculture
(o) Restanraniy

(1 Depression
1) Revovery

g dicalors ¢ or
21. Which indicators, <OV, Eihe  2a. Which of the oy
business

cvcle movements? example of cyclica] g,
(a) Legal (e} Fashion retailegs
{h) Lagging (&) Ensure builders
(e} Leading
() Concurrent

() Restaurants
[Nov. 2020] () Washing powder
22. Expansion phase is characterized

by increases in ... (a) Peak,recession, ey
(e} Nalimmluumul.emph\mcnmnr_f (b) Peak, depression i
demand boom i

(B) Excessive investment over pre- iz} Peak, recession
;

: t :
duction recovery Tough

(¢} Unemployment, workers accept () Pmk-d'fi"r'f-“smn-hust-aud
work at lower wages [Nov. 29
{d) Decrease in input demand and 26, Expansion phase of|

prices fall down depictscharacteristics ﬁ

[Dec. 2021] —

23. Which business cycle phasesare '@ Consumerspendingon
known as Turning Points? services tend to rise

{a) Trough and Depression (b) Business confidence ja
(&) Peak and Trough (c) Interest rates and

{c) Expansion and Contraction
{d) Peak and Boom

_ [July 2021]
Peaks and troughs of the 27-

JI1O0WTI CO !--.-l

Erbrsraanne

s m} Dep"ssiun

(# Boo™
i) Expansion
il Con{rnc[ion
[Dec. 2021
0, The different phases of a busi.
w T e:
’:; po not have the same length ang
severity )
) Expansion phase always last more
* than ten vears
(¢) Last many years and are difficuly
" o get over in short periods
() Nome of the above

rised by increase in

e}
;lm.
35,
]
M.
€}
)

31, Which phase of business cyeleis .
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sl B2
() Interes: mates and profits €0

e 4 {a) Conlraclion
('t \ rI|'I11'|'III\l'I'Il'|'|| |l'[|l{!" o rise
38, The expansion phase i rhaf::;
terized by high growth rate. >
is the nexi phase after expansion
(@) Prak
1) Contraction
(o) Downstream
{d) MNone of the above
39, Which of the following does nol
oceur during an expansion?
) Consumer purchases of all ypes
of goods 1end Lo increase

h":‘ Pepression
{c] Upswing
() Boom
44. A significant declin,

economic activity exteng 3911!
period of time is: I“g %I

{a) Business cvele

(h) Contraction phase
{c] Recession

() Recovery
45. Which is not ap ,
coincident indicator,

{a) Inflation

(h GDP

{c) Financial markei ttend

LT
15) Employvment increases asdemand Kamy|, ¢
for labour rises.
(¢} Business profits and business
confidence tend to increase.
(4} None of the above
40. Which phase is the Highest point
of the business Cycle?
{u) Upswing
(&) Downswing
(¢) Peak

() Interest rate

[Now,
46. Variables that '—‘hahge bej
the real output changes are e
as b

) Teueph (@) Trade cvele
41. In a typical business cycle,
in which phase Supply exceeds
demand?

(b) Business cyele

(¢} Leading indicators
() Lagging indicators
(a) Expansion
(5) Peak

{e) Contraction
{d) Recovery

[uly;
46A, ___ are the:
that change after the real g

(@) Leading indicator

[July 2021]
42. In which of the following phase
of a business cycle, actual demand

(b) Lagging indicator
{¢) Coincident indicator

slagnales? , {d) Concurrent indicator
I;J. Expansion 47. When aggregate
(_:r Pga#m ity is declining, the e

to be in:
() Contraction
{b) An expansion

le)
[July 2021]

e S N the
point anal lhﬂbﬂgiﬂnlna“f 'lk."
L r
1

u-r:lll\';!'
A rning point
(! cording 1o law trey, which of

A
‘:e fallo
P Trade
jnnov ;
o frade Cy¥cle is purely monetary
® Phcm,munun

wing is correct?
Cyele occurs as a resuly of

ful a1

F]-L“_'lll.'JEIUl'l 1N CCOnOmy Elct't\rit}
¢ i due 10 fluctuation in demand
7 Fluct palicn in govern ment
b c!i[J‘-"'dilU"L‘

[Jan. 2021
o Ewﬂomic recession shares all of
hés? L.h;"-3.:_1;5.-1"113.[ics except,
it i
i pall in the levels of investmeny
3 i
employment

Incomes of wape and interes
carners gradually decline resyl-
ing in decreased demand for
gnods and services

1)

investor confidence is adversely
affected and new investments may
not be forthcoming

¢

(d)
to increased demand for inputs

50. Which one of the following is not
afeature of Contraction?

a) Decrease in input demand pulls

input prices down

[b) Increases of wage and interest I

- earms pradually decline
1e) Producers lower their

CH- 3 BUSIMESE foe

Increase inthe price of inputs due

la} Pisey
thy m,._._u'

) Fally; rigey

‘) Fallu; taity
52. Excesseqe o 22 V9an. 2031}
tries is the g Y ™ Capital induy
umem,.._" iy e T istics of which
fa) Trough

16) Recovery

{c) Depression

d) Peak

[Now. 2019)

f“:‘ "‘““"%mmmﬂ._h
i which of the o, ¢ cconomy

la) Involuniam

(B) Ethical friction

) F"‘ﬂmﬂlﬂ\’mzm

(d) Structural

[Now. 2019]

ﬂchha.remﬂu-h-.m

{a) Cycle of decline H J
P . *ﬂm.-n-nn

(b) Countries.
able 1o
the

e}

=
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5.8

the most visible
n ECONOMY.
Jf employment

56, What is
recession in &
a) Fall in the Jevel ¢
ki Fall in price Jevel
(¢} Rise in the inventory cosl

i ~a ki 4 -Lrn.lllu'l
(d) Weakening $1ex [Now 20201

following is an

=, Whic the
57, Which of o ss cycles.

internal cause of busin
(@) Population grow th
b) Wars
Natural factors

= m g r-'I"h.'
&) Fluctuations in the effecti

demand

[Now. 2020]

574, Which of the following factors
Es an external cause or exogenous
factor which may lead to a boom
or burst.
{a) Economical factor
() ‘Social factor

(c) Natural factor

(4] Industrial factor
58. The trough of a business cycle
occurs when__ hits its lowest
point.
{a) Inflation in the economy
(5) The money supply
(c) Aggregate economic activity
{d) The unemployment rate

59, The lowest point in the business
cycle is referred to as the:

{a) Expansion

{#) Boom

{c) Peak

{d) Trough
60. The most feature of business

fa) Pervasive nature
(b) Regular length

sign of

55 ECONOMICS

(e} Periodic intengigy
(o) None ol these

&1. The period 192933 l::: zﬂl‘l
oty

_nlwu"ld

ta) Great depression

() Greal recovery

{¢] Greal upswing

(d) Greal drm.l];.u-j[u=|

62. Feature of :
interest rates and Pe“ple'ng"uh
for holding liquid Money,

{a) Contraction

(1231 Peak

{¢) Trough & Depressign
{d) Recovery

[Jan, 3

63. In Recovery phase of
Cycle, the process of pe
initially felt in the
{a) Capital market
(k1 Labour market

{¢) Production level

e )
v

T e

() Financial market
64. Business that are more vulnerf
to charges in business cycle gy
whose fortunes are closely linkedj

rate of economic growth are eally

{a) Vulnerable Business
{b) Cyclical Business
{c) Leading Business
(d) Lagging Business

65. Boom and deprecia
ness cycle are:

(a) Turning points
(b) Equilibrium points

(e) Both (a) and (b)
{d) None of the above

[CACE

CH 5 BUSINERS ¢y

of the following is not the
pusiness €Y< les?

i
o of b
FHJ prosper!
@ U ,,u.'!l"l:

{CA CPT May 2019]
.h of the ‘fu!.!.nwl,ng U6 ik
"'_':LT, in the index of leading
L ;ir.'al'-'""?
) prime Rate _
(@l [)ri-'ﬁ"cd Deliveries
: Auction permits
| Mew consumer goods orders
4 [Dec. 2021]
pich of the following is not an
& of coincident indicator?

1

] Const

o8 W
pxampl :
{a) [ndustrial production

() [nflation
) Retail sales
(d) New orders for plant and equip-
ment
[Nov. 2019]
§9. Those variables that change
pefore the real output changes are
ealled <.aennnsss -
{a) Leading indicators
{h) Lagging indicators
(¢} Concurrent indicators
{#) Business indicators
[Nowv. 2021}
70. Friction unemployment is the
characteristic of which of the fol-
lowing stages :
la) Expansion
(b} Peak
f&} Construction

e

7.1
lbllu:::'h’ which among the

Tz.l_ﬂdﬁml ]

59
‘ﬂi- 0 example of a lagging
la) Stock market prices
(b} Gross domestic preiducy
fe) Unemplayment
{d) Indusirisl production
[Dec. 2021)
() Are used 1o frrecast probal
shifts in v:mnu:nu: pt:lm s
{b) Are penerally used 1o forecast
economic fluctuations
leh Are indicators of sinck prices
existing in an eCOnomy
(d) Are indicators of probable reces-
sion and depression
73. Variables that give information
a!mmtherateufdmngedthem
slon or contraction of an economy
more or less at the same time it hap-
pens are called ...
(a) Lagging indicators
(b} Coincident indicators
(¢) Leading indicators




. Wmmumc&

(b} Concurrent indicators
{¢) Effective indicators

(@) Leading indicators
[Jan. 20211

76. Those variables that change after
the real output changes are called
as

{a} Lagging indicators
ih) Leading indicators
{¢) Concurrent indicators
{d) Coincident indicators
[June 2022]
77. vecrsennis measurable economics
factor that changes before economy
starts to follow a particular pattern
of trend.
(@) Lagging indicators
{b) Leading indicators
{c) Coincident indicators
{d) Concurrent indicator
[Nov. 2020]

() Coincident Facigy
{d) Concurrent Fagiop
H]

80. Coincident econan,;
are also called as whicy, "
lowing? of
a) Leading indicaopr

(h) Concurrent indicagy
(c) Headed indicaiors

(d) Capacily indicators

1 !
81. A variable that te.;]:::%

later than aggregate ECOonomjg, ¥

ity is called:
() A leading variable
{b) A coincident variahla
{c} Alagging variable
{d) A cyclical variable
82. Which of the fol]nwtng
describes a typical businesg
(a) Economic expansion ]
lowed by economic m; B
(k) Inflation is followed !
income and unemploym
(e} Economic expansions
lowed by economic an
development y
{d) Stagflation is folla
tionary economi

"“‘m Jing indicators
;:; cyclical indicators
s inp indicators
:;.:: coincident indicators
LJuly 2021)

g6. Whe

{¢) Expansion

(d) Trend

[CA CPT Now. 2018]

g7, Which of the following macro
omic variables would you (d)

ipclude in an index of leading eco- g;

, indicators?
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{b) Depression, Recession
{¢) Recession, Depreciation
(d) Recession, Recovery

96. The great depression of
is still cited for the

enormous mMisery and human

sufferings it caused.

{a) 1929-1930

(B) 1929-1931

{c) 1929-1932

(d) 1929-1933
97. Which of the following statement
is False? -
() No economy follows a perfectly

() Expansion
wh Depression
I A
99, Economiec ind:l:..qu."“-' !

(@) Aonestroke salug ;
hase of ec ﬂllnnm!—.
phase COnomy,

b jndimlorsshuwmgme
ol economy, -

() Someactivities which .
direction of economy

() Just and illusion,
Features of Business ¢
100. Industries that are o ""«s
the:

(a) Durable gmdsa.ndsem“ iy
i(h) Non-durable goods ang .

sectors.

{¢) Capital goods and nap
goods sectors.

(d) Capital goods and durahl
Sectors. i

[CA CPT M
101. Business Cycle o
{a) Periodically
{b) In different phases
{¢) Both (a)and (b)
{d) None of the above
cA

sensitive to the businesg m

B JsinessEYe pericadically,
(#) Jjthough they do not exhibit the
" arity.
M:ﬂﬂgﬂstics and

{Jan, 2021, July 2021]

stﬁ.;hofth:folluwlngm
ment

iﬂ.ﬂl’md?
economy follows a perfecily () Serious.
(e} No.

{d) Moderate

(o) NO
rimed cycle

Economy follows a perfectly

;imedq,'cle

Most of the economy follows a  ness eycle

pen‘ecr.ly timed cycle ss cycle?
iR a) They occy

Capitalist economy follow a per- ®) T

" fectly timed cycle
[June 20221 €
‘Which is not the characteristic

b
©

109. What is incorrect sbout by
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.14

111, Which of the following statc

ments is correct?

() The business cvcle largely affects
the agricultural sector

(I} The business cycle largely affects
small emplovess

(c) The business cycle generally
affects all sectors of conomy but
business sector in particular

() The business cycle affects low
wages workers

112. The disturbances inone or more
Sectors ________ otherSectors.
(@) Do not affect
(&) Equally affect
{¢) Gets easily transmitted to all
(d) None of the above
113. Business cycle is contagious
and ........... in character?
{a) Local
(h) Regional
fc) Mational
{d) International
[Jan. 2021]

{e) Unplnnnedch.hmin

(@) Waves ol optimisy, g
115. According 10 some ¢

——  _arethe
of business cycles, Prime :

(@) Fluctuations in effectiyey
(b} Fluctuations in i“‘-'fslmw
(¢} Macrocconomic Policies
d) All of the above
[CacPry,,

116, Which internal [aﬂu:t‘?lu[”
Business cycle? aﬁ-‘“lﬁ
{a) Fluctuations in i“"ﬂi!mem
(b) Natural factors

{c) Technology shocks

(d) Population growih
[CA CPT Nov. 2018, July 2021']

i;;;'l:l]:e internal causeanfbuﬂn:?
{a) Fluctuation in effective de

{h) Technology shocks

{¢) Both (a) and (k)

{d) None

[CA CPT May
118. The internal cause of

(a) Technology shocks :; '

[ﬂ 'Iuﬂﬁ L

1

peed
oes®

at down and o | .

‘1 l:"‘l""gng theaggregate d

e
Mo\.emm up and to the lofy
he aggregate demand

r"c.
. odern husiness activities are
10 Mo e anticipations of busi.
on ity and are affected by

ing 1

(CA CPT May 2019,
121 According to
rade €¥C
juovations.
) Hawirey
i ADAM Smith
(¢) I M Keynes
@). Schumpeter

les occur due to onset of

view :l
"m;n:-:‘unﬁsm or pessimism, 4] H
by

Nov. 2020] 2n increase in

h]hk:'.“.




ia) lternal
1&) External
Wl Economic
i) E_.trlug!r.ﬂ
129, According to which economist
trade cvele is a purely monetary for
phenomenon:
@) Schumpeter
iB) Pigou
ie] Hawtrey
(&) Marshall
[CA CPT May 2018]

130. According to whom “Business
fluctuations are the outcome of

some psychological states of mind
of business community”.

{a) Marshall

(B) AC. Pigou

(e) JK Hicks

(! Psvchological an:' " '
(B Wars

() Technology Shocky

1) Natural Factors

fa) F]uctual'r:minam
at
demand Yatey

(b)) Innovations

fe) Changes in money supply

{d) Flucluationinagrjcu]w f
- Iht‘ﬂry bold.mh-

busin: E:ycles result fropy,
that present prices gy
influence the productipy at
future date.

(a) Schumpeter’s

(k] Hawtrevs

(e} Cobweh

(d} Pigou's

135. Who propounded the
theory?

(@) Nicholas Kaldor
(b) Hawtrey

(e) Adam Smith
{d) Schumpeter

markel economy, where
n’ﬂmjﬂﬂnnof profitsisthe aimof 1
Tasiness: higher level of aggregate ‘of
nd will induce businessmen ta -
pl“"i"ﬂ more. As a request, h
*al he fc 1, | 1, R
@ Qutput
b Income
{©) Employment
(d) All of these

(a) Downward Spiral
{b) Cross Spiral
fe) Upward Spiral
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5.8
i Goverment Sperd: ) Either (a)or ify '. } y
o ) Noe ol these oy
(b} locrease in Taxes 151, Business Cyeles hy e 100 epreciation
() Increase in Interost Rates influence on Businesy g, = MW
wh Al of these (@) Negligible . g3 g -
(B} Leaxt “; Im
Relevance of Business Cycles in (0} No " 190
Business decision making ) Tremendous ::1 1932 %
147. How many phases are their in 152, Which External Faey, [ca mmw
business cycle? the business cyele? or. fl, Moflhefuﬂﬂwhgm-_
{a) Four (@) Population growil '« les of “Cyclical business”, Tate
(k) Five (b} Variation in governmer o Fashlﬂ""em-‘hﬁ electrical goods |
i house— uilders
{c) One {r) Money supply i &
A = . ® Restaurants, advertising and ﬂ
() Many , (d) Macro economic policies I oyerseas lour operators m
[CA CPT Nov. 2018] [CA CPT Ngy 5. @ Construction and other infra- ) F
148. Business Cycles effect 153, Ecunumy-widetmmm i gtructure firms
___ of an economy. significant impacton ___ S8 d) All of the above
{a) Social Aspects fa) Capital Goods Industries
{b) Economic Aspects {h) FMCG Industries _Me_r____ i
(c) All Aspects (c) Social activities T e[ A (0] 2 (@] & =
{d) No Aspects {el) All tvpes of business l:‘.:.';ﬂ- '[d'} 6. ] 7. @] &
H.l‘hepaiodafpronpeﬂlyo?ens 154, Business cycle is contag T @] 12, (@] 13 efL i
uplﬂ.'wnnd superior opportunities mcharacler? W‘ 19. | (b | 20. | ()
_ﬁ.-'_. | fheveby prooles. (o) Fical Tt | 24 [ @[ 248.]
(b) Regional (@) | 30. | @] 31.
Wandﬂnem oyment by : e
W Pl o] {c) National ; )] 3% (e |
i =2 (d) International ] ; 43-
: fca J
nent and 155. Businesses w
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(@] 113. [ @ | 114. [ ) [11aa

118, [ ») | 119. [ ) | 120. [ (9
125, | (©) | 126. | @) | 127. | (5)

32. | (@) | 133. [ (@) | 134 [ (o)
)] 139. | @) | 140. [ (@) [ 141, | ()
) [ 146. [ @) | 147. [ @) [ 138, | (o) |

153. | @) | 154. [ @) | 155.

e | [ T







